
Chapter 3
Optical, Radio and X-ray Observations

of GRB Afterglows

Abstract
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3.2.2 Data Reduction and Analysis
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Sampurnanand Telescope Himalayan Chandra Telescope

(ST) (HCT)

Size of Primary Mirror
(meter) 1.04 2.01

f/13, RC, 15.5
′′

/mm f/9, RC, 11.5
′′

/mm
Longitude 79◦ 29

′
E 78◦ 58

′
E

Latitude 29◦ 22
′
N 32◦ 46

′
N

Altitude (meter) ∼ 1955 ∼ 4500
Filters Johnson UBV & Cousins RI Bessel UBVRI

Filter/λc(µm)/BW(µm) Filter/λc(µm)/BW(µm)
U/0.36/0.06 U/0.35/0.05
B/0.44/0.09 B/0.44/0.09
V/0.55/0.09 V/0.55/0.08
R/0.64/0.16 R/0.65/0.15
I/0.80/0.15 I/0.79/0.11

Detector TK2048E CCD E2V CCD
Temperature (◦C) -120 -110

Size (pixel2) 2048 x 2048 2048 x 4096
Pixel Size (µm2) 24 x 24 15 x 15
Gain (e−/ADU) 10 1.22
Readout Noise 5.3 e− (130 KHz) 4.8 e− (130 KHz)

Table 3.1: Optical Telescopes : System parameters of the telescopes, filters and detectors
used for the observations of optical afterglows.
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3.2.2.1 Cleaning
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�(�]� e�e G �60E$=FI���'��*���,�.�-��`/�� $=� +V��.�/]�(��$=�����6�I* W �[$ � �%��,6-���*�F�$&*�-
����0E� T&$=, �= ����I��01�6�1�($C!
��T=��*+�(�� ?���I0 �(�]���60E$=FI����9#
����

raw frames
�f9 �=9#�(�]���60E$=FI���)�= 

�(�]� ��Z+!#$&�D�I/]�($=�6*]��-A/+!1�(��� e�e G $=����M����c����������-J.����6*�F�$b��� ���= 
bias frames

d �f9 �=9L$ �������
�������I*]- �I(cM �I��.����� ?�($=01� h $=*�-#$`�����D�= 

flat frames
d � 9 �&9L$@ ?� B �������I*�-����I(]M^�I��.����� ?��$=01���ih

�I/]�($=�6*]��-J.�����*�FK�(���)��$=0E� �%,U�(����$=�5�(�%$ ���& :�����
raw frames

9

����

bias frames
$=��� �������_�������I*]-��#��(cM^�I��.����  ?�($=01���1B����6�i�N���I*����6�����A�I*�,U! �= 

e�e G ���C$&-��I.]��9�
����
bias frames

���H.]�Q���I*+�i$&�6*��QM�� (c��, /+!\M�� (c��, ��*] ?�I��0E$&���6�I*n$=/ �=.]� �(�]�
*��I�����J,6� TI��,'-].�� ���
����� e�e G ��,���� �(���=*��6����9�
<�
����01� TI�J�(�����>*��I�6���J� � �����1 ?���I0 $=,6,D�����

raw frames
$#�����`�= 

bias frames
���Q���I0�/]�6*���-2��*3���J�I*��>���($=*�-%$=��-a/��6$=�  ?�($&0E�K.����6*�F $=*

mtl�4 ���i$&��Z � � l � e �=)noYmtP �NB����6�i�\�����(����*\��.�/c�(�($&���(��-  ?���I0 $=,�,<�& L�(���
raw frames

9
KQ��*����($=,�,�!�$������<�= ���TI� �I� 01�I���

bias frames
�6� .�����-` ?�I� �k�i$&���6�����6��$=,6,U!����6F=*�� �%��$=*+� �($=01M�,��6*�F

�= <�(���)��,6��� �(���I*��6����*��I�6���)$=*�-J�(���QT&$=��� $&���6�I*g9
� TI��* ������*N����� ������.�,U�i$=*+�J/��6$=�C+ ��.�/c�(�($&���(��-  ?�($=01���E-��_*��=�A�%$CTI� .�*��U ?�I��0 ���I+

��M^�I*����8$=�����I��� ����� e�e G / ���C$=.]���a��$=�i�SM]� (c��,)�= `�(��� e�e G $=� �(� $=� $=* ��*�-���M ��*�-���*+�
-�� �(��� �(�I� $=*�- ��$=* �%$CTI�>$E���6F=*�� �%��$=*+�(,U!#-�� � ������*+�Q������M^�I*����b ?���=0 �����b�����k�Q�= ������M�� (]��,6��9

<�#0E��$=��.�����������M^�I*����K�= �(������*�-��UTc��-�.%$=, M�� (c��,6�'�(��� e�e G �����6,�,6.�01�6*�$&�(��- .]*��� ?�I��0E,U!J/+!
��(cM^�I����*�F@��� �(�`$@M�$&�(�i�E�= �����'��Z+!>B����6�i�1�6� *��=� T=����!1/����6FI�+� /�.]� .�*]�� ?�I��0E,U!b��,6,6.]0E��*%$&�(��-g9
R�*]-����#��.��i� ��(cM �=��.����=W������ ��0�$=F=���1�= )�(��� ��Z+!N$=��� �I/]�($=�6*���- .�*�-]���#-�� � ������*+� ��,��(������9

��������E$=���>�C$&,6,6��- �(���

flat frames
9K4 ��� �b�& 

flat frames
.]*�-����`$#FI��T=��*��%,U�(���)$&���>���I0<+

/���*���-\.����6*�FJ$&*\mtl'4 ���i$=��Z � 	 4L
 e �=)noDmtP � ���AFI���Q$ T=����$=FI�
flat frames

 ?�I��-]� � ������*+�
�%,U�(������9 
��]��/��6$=�C+ ��.�/c�(�($&���(��-E��0�$&FI���L$&�����(����*E-]��TH�6-���-E.]���6*]F)����������$CT=���($&FI�

flat frames
9


����\/��6$=�C+ ��.�/c�(�($&���(��- $=*�- �[$&�C+ �%��,6-���- ��0�$&FI���1�(�3.��J�I/]�($=�6*���-N���I*+�($=�6* $8 ?��B
/����6FI�+����M^���iZ3�'B����6�i� $=���)-��������6*�� �� ?���I0��(���)���($=���'�6*#�����������6*+�(��*����U�V!#M���� �%,6�&9 R�*�,��6Z=� �����
���($=���5B��]�6�i� �%$CTI��K@$&.������ $=*,+ ,6��Z=�'M���� ��,6��� d $�M ��$=ZA$&*�-J/����+$&-JB���*�FI�(h Wc�����Q/����6FI�+����M ���iZH�
�%$CTI�E���%$&��M�,U!\�������6*]FJ$=*�-  $=,6,��6*�FAM]��� �%,��=91
���������/����6FI�+�)��M ���iZH�b$=���>���I��01�6�>�($C!\� TI��*3����9
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4�* mtl�4 � �i$&��Z e �)j ) m e l'4 �)j �6�b.�����- ���\����01� TI�#�(�]�#���I��0E���A�($C!8� TI��*3���E ?���I0 �����
�[$&�C+ �%��,6-���-# ?�($=01�=9


���� ��0�$&FI��� �(�3.��5�I/c�i$=��*���-#$&��� ���� ?��������-J���K$=� � ��,��C$=* Fc��0�$=F=���5$&*�-J$=����.�����-# ?�I�
 ?.��k�(������$&*%$=,�!H���6�5�(�>�I/c�i$=��*#���(��,6,6$=�50E$=FI*��U�(.�-�����9 �:�6���k�����������601M �=���i$&*3�Y�(�>*��=���Q�(�%$&�������
K)l�o $& "�(����FI,�� B��`$&���>FI��*]���($&,6,�!n $=�6*+�@$=*�-
���=0E� �(�601���)0E$C!\*��=�@/^�E������*2��,��C$=��,�!\��* �����
�60E$=FI����9:
����6� �6�L.���.%$=,�,�!K/^����$=.����'�(���'��(cM^�I��.]�����(�601���= �(���� ?�($=01�5BD$=�D*��&�Y,��I*�F)��*]�I.�FI�
�(�Q-]���(�����L�����5���=.��������= [�6*+�(��������� d K)l'o8$& "�(����FI,�� B �6*��I.]� �C$=��� h 9 mV*������C$=���6*�F �����5�I(]M^�I��.����
�(��0E���6��$=*J�I/+TH�6�=.������I,�.]�(���I*g9 &�� BD� TI����W[�6*�������$=����*�F��(���Q�I(cM �I��.����)�(��0E��0�$C!E*��=�'$=,UB5$C!H�
/^�AM��($&���(���C$=, -�.��E�(� $ T&$=���6���V!2�= ����C$=���I*���9 � T=��* �6*8��.��i� ������.%$&���6�I*��@���b�6�`M �I������/�,6�1�(�
�6*]������$=���#������� � � ��������TI�J�I(]M^�I��.����#�(��0E�EF �= ������J�60E$=FI���`M �=��� + �I/�������T&$&���6�I*]��/+!_���($=�iZ3�6*�F
�(�]� ��0�$=F=�����= ����]�I�������1��(cM �=��.���� ���601�����(�3.��1�6*]������$=����*�F\�(���J���6FI*�� �%�C$&*����#,���TI��,��= ������
-�� �(��� �(���I*A�= ���������I.������ �= ��*+�(�������k�C9��Q.�$=*+�(���($&�(�UTI��,�!IW

signal to noise ratio
�I�

S/N
�6� �(���

�3.%$=*+�(�U�V!)B����6�i�b����,�,H.]�:�(�]�D����FI*�� �%�C$=*]��� �= ��(�]�D����FI*%$=, d
S
h � T=��� �����D.�*]-�����,�!H�6*�F'*��I����� d P h 9

�%�I�������� $=��*3������FI*%$=,���W[�(�����k�i$&���6�k�(�6��$=,<*��I�6��� �%.�� �(.%$ �(�6�=* �6� ����M���������*+�(��-2/+!n�����K7<�I�6�����I*
-������(���6/�.c�(�6�=*)B��]�����

S ∝ counts
$=*�-

N ∝
√

counts
9:
��H.]�

S/N ∝
√

counts
9:mV*�������$=����*�F

�(�]�1*3.�0b/ ���@�& D���I.�*+�(��W ���U�(�����Q/+! �6*������C$&���6*]FA�(���>��(cM^�I��.]���>�(�601��B�����*2M^�I�����6/�,��K�I�)/+!
���=0�/��6*]�6*�FK��0�$=F=�����= -�� � ������*+�'��(cM �=��.����@���601����M^�I���C+V�I/������kT=$ �(�6�=*���W�BY�I.�,�- ��*������C$=���)�����

S/N
��$&�(���b0E$=Z3�6*�Fb����� ���I.������Q�= <�6*+�(����������TH�6���6/�,��=9 m �5�6�5*����������($&��!A���>$=,6��FI*E����� -�� � ������*+�

�60E$=FI�����I/]�($=�6*���- .]*�-����'�(���@�($&0E� �%,U�(����/^�� ?�I���`���I0�/���*��6*]F�9 4�*nmtl�4 �_�i$&��Z#mC) 4 	 mCK)P
�6�K.]����- �(� $&,6�6F=*a�(���#��0�$&FI����92
���� $=,��6FI*]��-8��0�$=F=����$&���A�(�]��* ���I0�/]�6*���-_.�����*�F $ �i$=��Z
mC) e �=)noDmtP �NM���� TH�6-���- /+!#mtl�4 �Y9

3.2.2.2 Analysing


���� ��,6��$=*gWc$=*�-A�U �����H.]�6����-A���=0�/��6*]��-gWH�60E$=FI���Y$&��� $&*%$=,�!H����-A.����6*�F`����0EM�,���$&*%$=,�!3���6�C$&,%�I�
*3.�01�������C$=, 01�������H-��' ?�=�������)M�.���M �I���b�= �6-���*+�(�� "!H��*�F>���i$&����$=*�- 0E��$=��.����6*�F>�(�]���6��/����6FI�+�C+
*�������9 �2� �%$CTI�Q.�����- G�4 �Q7 & � 
B+Vm�m ��(H����*�����TI��,�!E ?�I�5$=*�$=,�!H����*�Fb����� ��,��C$=* e�e G ��0�$=F=����9
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Detecting stars in a clean image

G�4 �Q7 & � 
 M]��� TH�6-����D$Q�i$=��Z � mtP�G  ?�I� � �%*]-��6*�F�F+�I�Y��-���*+���� "!H�6*�F)�k�i$=����9LR'*�,6��Z=�'��(H�(��*�-���-
�I/����������',��6Z&��F+$=,6$�(c�6����Wc�����Q������,�, $=� /�����FI�+�(*�������-������(���6/�.c�(�6�=*��6�D��.�M�M^�I����-#�(�K�%$CT=�`$9K)$=.�� +
���6$=*��I� $�����0E��, $=� M���� �%,6� B����6�i�KM^�C$&ZH� $ � �(�]�5����*3����� $=*]-� $=,6,��:� �E�($&M��6-�,U!@�I*����U�(����� ����-�����9

������5M����=M �����V!A���5.�����-J/+!��(�]���i$=��Z��:mtP�G  ?�I�D��-���*+���� "!H�6*�Fb���i$&���5��*#$�FI��T=��* e�e G  ?�($&0E�&9

� mtP�G M ���� ?�I��0E�E$2M]� (c��,'/+!�M�� (c��,'���C$&���i�  ?�I�1/�����FI�+�(*������A��*��%$=*]����01��*+���#$=*�-
�(�]��* �]�(��$#K)$=.������ $&* M]��� �%,��Q�(�1��.��i� ��*��%$&*�����0E��*3����95
��]�b,6�H�C$ �(�6�=*�B��������`����� ��� ��*�-��
, $&��FI�&WcM^�I���U�(�UTI��T&$=,�.���,��6���D*���$=�D����*+�(�����= �(�������i$&��9 � mtP�G ����M^�I�k�(�D����� M^�I���U�(�6�=*��Y�& ���i$&���
�6-]��*+�(� �%��- �6*A�����6��BD$ !A�6*#�(��� e�e G M�� (c��, +V/%$&����- �bW � ���H�I��-���*%$&������9

Photometry

7L���=���I0E� �(�k!��= <�k�i$=���5�601M�,6�����Y$=�����6FI*]�6*�F��3.%$&*3�����($&�(�UTI��01�C$&��.���� �(�b�����Q/�����FI�+�(*��������= �����
-�� �(��� �(��-\���i$&����9'
��������6�'M^���� ?�=��01��-n/+! .����6*�F#$>�i$=��Z 7 & � 
 M���� TH�6-���- /+! G�4 �Q7L& � 
Q9

��������E$=�����VBY�nM^�IM�.�,6$=� M����c����-�.]�����)B������i�2$&���>���I.c�(�6*]��,�!  ?�I,�,6� BD��-\ ?�I�Q-��I��*�FA�(���>M��]�E+
�(�=0E� �(��!)��*�G�4 �Q7L& � 
 � � h 4�M^���k�(.����57L���=���I01���(�k!@$=*�- �=h<7L��� �%,6� � �����(��*�F'7 �]�=�(�I01������!=9

Aperture Photometry

4�M^���k�(.���� M����&�(�I01������!1�6� �(�������601M�,������D�= �(�]���VBY��9 m �5�C$&,6��.], $&�����5$&*�-A��.]0E�D�����
/����6FI�+�(*]�������& <$b���($=�YB��U�(����*#$b�����������5�= ���I*�����*+�(���6�Q$=*]*H.],6� d ���  ?��������-A���K$=�D�����Q$=M^���k�(.������
$=*�-\�]��*����>������*%$&0E�`�= �(����01�������H-[h�B��U�(�\�6*]������$=����*�FA��$=-��6�<����*+�(����- �I* �(���K�k�i$=��9��[$=�
$CB5$C!> ?���=0 �(��������*+�(�����= �(�������($=��W+B��������'�(���'���I*+�����6/].]�(���I*>-�.����(�)�(���'���($=� F � /�����FI�+�(*������
�6�'��(cM^��� �(��-\����/^�b��0E$=,�,<�=� �������]Wg$=*��&�(������$=*]*H.],6.����6��.]����- �(�A�����(��0�$ �(�)�(���`/�����FI�+�(*������
-�.��Q���>�����)/%$=�iZ3FI���I.�*�-g9 
����@$=���C$�+fBD���6FI�+����-J/%$=�iZ3FI���I.�*�- �6�5������* ��.�/c�(�($&���(��-  ?���I0 �����
������,�, $=�5/]���6F=�3��*�������9 
����6� ��*%$=, *3.�0�/^�����6�5������* ���=*3T=���k�(��-n�6*+�(�>0E$=FI*��U�(.�-��&9


����#�I/+TH�6�=.��>$=-]T&$=*+�i$&FI�#�= ��(�����K0E� �(���H-_�6�`�(�%$&�����K��������0EM�,��=9
m �KBD�=��Z3� �%*��
B�����*8�(���E�60E$=FI��-��%��,6-8���`*��&�b����� B�-���- 9nmV*_$n����� B�-���- �%��,�-a�IM]���601� ���6*�F $=M^���k�(.������b���
-�� ?E��.�,��L$=� �(��� !�01�6FI�+� 0E����FI�DB��U�(��������$=M^������.������ �= ^*��C$=��/+!����($=����9 4�,�����W+��*K��.��i�E$ �%��,6-



3.2 Optical Observations 83

M����IM ���������(��0�$ �(�@�= �(�]�b/%$=�iZ3FI���I.�*�-\����-]� ?1��.�,U�C9�
�����$=,�������*�$&�(�UTI�)�(���i�]*�� �3.����& 7L��� �%,��
� �U���(��*�FK7L���=���I01���(�k!#���=0E�������>�I.�����������.��@���>���I01�)��(H�(��*3���6*J��.��i�n�����(.�$&�(���I*���9

Profile Fitting Photometry

������>�����i��*]� �3.�� $=����.�0E���E�=�1�������60E$&�(���� ?.�*������6�I*�$=,5 ?�I��0 �= ������ M �I��*+�>��M����C$=-

 ?.�*�� �(���I* d 7 j �LhD�& <$K ?� BS�=/�������TI��- /]���6F=�3�5���i$&����$=*�-A ?�=�D�(���Q�����k�����C$&,6�����U��$=�����I��-��6*]F��(�
�(�]��M ��$=ZJ/�����FI�+�(*������ �& �6*�-��UTH�6-�.%$&, ���i$&����9�
����6�'�(���i�]*�� �3.��K����/%$&����-\�=* �(���`���601M�,��� "!H�6*�F
$=����.�01M]�(���I*J�(�%$&�'.�*]-����'�6-���*+�(�6��$=,g�I/]�����kTH�6*�FE���I*�-]���(���I*�� d $&�(01�I��M]�������6�)$=*�-J�(���i��*��I,��IFI� +
�C$&,"h�$=,6, �(���@���($=����BD�=.�,6- �%$CTI�`�6-���*3���6��$=,g/����6FI�+�(*]�����'M���� �%,6����$&*�- BY�I.�,�- -]� � ���� ?���I0 �I*��
$=*��&�(����� �I*�,U!)/3!b����$=,6��*�F��= ]�(���5M^�C$&Z`��*3����*������V!=9 
�����7 j � ��� $=M]M�����(c�60E$&�(��-b/+!b$�*3.�0�/^���
�= :0�$ �(����0�$&���6��$=,  ?.�*]���(���I*���W]�(���)01�I�������I010E�I*J$&0E�I*]F��(����0 $=��� �

G(r, a) ∝ exp(− r2

2 a2 ) Gaussian

L(r, a, b) ∝ 1
1 + (r2/a2)b

modified Lorentzian (3.1)

M(r, a, b) ∝ 1
(1 + r2/a2)b

Moffat

B��������
r
���D�(�]�Q-��6�k�i$=*����� ?���=0 �(�]� ����*3�����@$=*�-

a
	

b
$&���������QM%$=��$=0E� �(�����D���K/ �

�����(��- d jH�(� �(���I*gW � �=s 
Ih 9�4�M�M]����(c�60E$&�(��*�FE�����K7 j ��.����6*�F���.��i� 0E$&�(����0�$ �(�6��$=,  ?.�*�� �(�6�=*��
!H�6��,6-��@$=*2$=*%$=,U!3�(�6��$=, 7 j �Y9 4�*��=�������)BD$ ! �& 5���k�(��0�$&���6*�FA7Yj �[�@�6�Q*3.�01�����6��$=, B��������1�����
 ?.�*�� �(���I*%$=,H ?�I��0 �= %�(�]��7Yj � �6�L$=M]M�����(c�60E$&�(��-�.����6*�F)$� ?� B�/]���6F=�3� ���i$&���L�6*`�(��� �%��,6-g9:
����
$=-]T&$=*+�($=FI� B������#�(���)$=*�$=,�!3�(���C$=, 7 j �%���6�5�(��$&�5�(�]��!#��$=* /^�Q�6*+����FI��$&�(��-J$=*%$=,U!H���6��$=,6,U!>� T=���
�(�]����*+���6���E������,6,6$=�)M���� �%,6�>�(� F=���@�(�������=�i$&, /]���6F=�3��*�������9 oD.]�`�(���E-��6��$=-]T&$=*+�i$=F=���6�)�(��$&�
�(�]��!E�C$=*#�I*],�!1/ ��$=*J$=M�M]����(c�60E$&�(���I*�$&�Y�(�]� ����$=, �k�(��,6, $&�YM���� �%,������=.�,6-A/^��-]� � ������*+�5 ?���I0
��.]�i�
 ?.�*]���(���I*%$=,< ?�I��01��9@
����1$=-]T&$=*+�($=FI�bB��U�(�\�(���K*3.�01�����6��$=, 7 j �%�Q�6���(�%$&���(��� !\���I.],6-
/^�@T=����!J��,6�I���)����M]��������*+�i$ �(�6�=*n�= :�(���@����$=, ������,6,6$=��M���� �%,6�&9 oD.]�'�(���)-����($=-]T&$=*+�($=FI�)�6���(��$&�
�(�]��!J$=��� ��(cM^��*�����T=�`���I0EM].]�i$&���6�I*�$=,6,U!I9:oD�����(����������.�,��������I.�,�-#/ �Q�=/]�i$=��*���-#/+!����I0�/]�6*���*�F
/^�������= :�(���Q�VBY��01���(�]�c-���9Y
��]�@�($=��Z#4 	 	<jc
<4 l M]��� TH�6-���-n/+! G�4 �)7L& �Q
S-���������01�6*]���
7 j �%��/3! $K���I0�/���*%$&�(���I*A�= :/^�=�(�gW������@$=*%$=,U!3�(�6��$=,g$&*�-#�(���)*3.�01�������C$=, 0E� �(���H-���9
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4 	 	<jc
<4 l .������K$=/^�I.]���=r BY��,�,Y�����I,6$&�(��-2/]���6F=�3�`���($=���@�(� -���������01�6*]�1�����A7 j �
$=*�- �(������$&M�M�,6���������8$=,�,D�(��� ���($=���1�6* �(��� �%��,6-g9 4���$&*��I.]��M�.]��W54 	 	<jc
<4 l M���� TH�6-]���
M^�I���U�(�6�=*�� $=*�-10�$=F=*�����.�-���� �= �(���'���($=��� B��������������=��� �I*1�����'0�$=F=*�����.�-�����W3��Z+!1/�����FI�+�(*������
$=*�-
χ2 T&$=,6.]����9

3.2.2.3 Standardising


����10�$&FI*�����.�-���� �= �(���>���($=���Q���H.]�@�������60E$&�(��-2$&���K�C$&,6,6��-
$=� �(���>��*�������.�01��*+�i$&, 0�$&FI*�� +
�(.]-�����9 
��������D$&���L��M^����� �%� �(������� �I/�������TH�6*]F����I*�-��U�(�6�=*�� d $ �(01�I��M��]������� $=*�-)�(���i��*��I,��IFI�6��$=,"h
�=9 F�9������>0�$=F=*�����.�-������= 5$#�k�i$=�Q-�� �(����01�6*���-
���c-%$C! $=*�-\�(�I01�I����� B .]*�-����)-�� � ������*3�)�=/,+
������TH�6*]FE���I*�-��U�(�6�=*������I.],6-#�(.���*J�I.]���(�>/^�@-]� � ������*+���=�5�(���)0E$=FI*��U�(.�-����= :�����)�($=01�Q���($=�
$=� �������60E$&�(��-b/+!`�VBY�Q-�� � ������*+�:�(��,��������IM^��� ���I.�,�-b/^�5-�� � ������*+�C9:
:��/ �D$=/�,6� �(�����I01M%$=���D���I+
��.],��(�  ?���I0 -�� � ������*3�Y�(��,6�������IM^���5$=*�-A.�*]-����5-]� � ������*+�5�I/������kTc��*�F����I*�-��U�(�6�=*��D$&���(���I*��I01�����
�%$CTI�)���I0E�Q.]MJB��U�(�J$K���($=*�-%$&��-J0�$&FI*�����.�-�� �k!H���(��0 9 mV*#�(�]�6�5�k!c�k�(��0 $>*3.�0b/ �����= <���i$&���
$=���A�6-���*+�(� ����- $=��M]���60E$=�k! ���i$&*�-%$=��-���9 
����#�I/]�����kTI�����>�%$CTI�A���\/�����*�Fn�(�]���6�`� B�* 01�C$ +
��.]����01��*+�������>$b����0E��, $=� ,���TI��,g�= �(�]�����QM]���60E$=�k!E�k�i$=*]-%$=��-]�5�(�K/^�Q$=/�,����(�K���I01M%$=�����(����0
B������A�(���Q01�C$&��.�����01��*+�(�5�& :�&�(��������9 
������5M����c�����������5�C$&,6,6��-#$=�D����� � � �8��� �853�8�O� �8�T� ���%9 �2�
B��6,�, /����6� ��!#-����������6/^�)�������@�����)���(��M��� ?�I��$=�i������TH�6*]FE�k�i$=*�-�$=��-����($&���6�I* 9

• Observations :
m � �����H.]�6�����Y�=/�������TH�6*�F@�(���'���($=*�-%$&��- 	 $=*]-��I,�� ����,6-]� �& g���($=��� d 	 $=*V+

-��=,��CW � ��� �IhQ$=,��I*�FAB��U�(� �(��� �%��,�-2�& 5�6*+������������9�
����1�6*��k�(��.�0E��*+�i$=,L0E$=FI*��U�(.�-]���Q�= 
$=,�, �(�]�@�k�i$=�����6*#/^�=�(�J�(��� �%��,6-���$&���Q�(����* �������60E$&�(��-g9

• Atmospheric Extinction :
j3�(��,�, $=�L,��6FI�+� ��� $=/����=��/^��-A$&*�-����C$&���(������-1B����6,��'M�$=�����6*�F

�������I.]FI� ����� � $&���(� F �'$&��0E�I��M��������)�(� B5$&��-����(��� � $=�k�(� /%$=����-n�I/]�����kTI��� $=*�- ����*����
FI� �(�`��(H�(��*�������-g9 
����6�@� � ��� �����`��$=,6,���- �H(H���6*�� �(�6�=*g9#
����#$&��0E�=��M����������1�I(H�(�6*]���(���I*
-���M ��*�-��5M]���60E$=���6,�!`�I*������ ����*��U�(�E-��6�k�i$=*���� d

Z
h $=*]-��(���'B5$CT=��,6��*�F=���#�= ��������$=-�� $ +

���6�I*g9 G�.�����*�F��(�]�Q�I/�������T&$&���6�I*��Y�(��� ����*��U�(�J-��6�k�i$=*]��� �= :$=*#�=/������ ��Z&����M����i�%$=*�FI��*�F



3.2 Optical Observations 85

$=*]-\$=� $E������.�,���W^�����K$=01�I.�*+���= L,��6FI�+����(H�(��*�������-g9�
:���($=Z=�@�(��������*3���A$=�����I.]*3��Wg$&�C+
01�I��M]�������6�1��(H�(��*������6�I*
�%$=�@�(�n/^�1�������60E$&�(��-2-].�����*�F �����E�=/�������T&$&�(���I*���9 �%�I�Q�����6��W
$=����0E$=��� d

X
h������C$=,���.�,6$&�(��-#.�����*�FK�(���Q ?�I,�,6� B��6*�Fb� �3.%$&���6�I* �

X = sec(Z)−0.0018167[sec(Z)−1]−0.002875[sec(Z)−1]2−0.000803[sec(Z)−1]3

cos(Z) = sin(φ)sin(δ) + cos(φ)cos(δ)cos(H)
B��������

φ
�6�������b,6$&�(�U�(.�-]�@�& �(���`�I/�������T=����W

δ
�6���(���`-�����,6��*%$&�(���I* �= �(�]�b���=.�������$=*�-

H
�6�5�����)���I.���$=*]FI,6�Q�= <�(�]�@���I.������=9

• Transformation Equations :
�2� B���,6,+,��6��� �����D��� �3.��6����-@�(�($&*��� ?�I��0�$ �(�6�=*@���3.%$&�(���I*��

��������-�������� �(,U!I9<
�����-����($=�6,��L$=������*��(�����k�i$=*]-%$=��-K����(H�(� �=9 F�9 &'��*�-]��*E$=*�-1;)$=�����i�H.]�iZ
d � �Is �Ih 9 
����@�����H.]�6����- ���($=*]�� ?�I��0�$&���6�I*�� �3.%$&���6�I*��'$=���

ui = U + u0 + u1(U − B) + u2X

bi = B + b0 + b1(B − V) + b2X

vi = V + v0 + v1(V − R) + v2X

ri = R + r0 + r1(R − I) + r2X

ii = I + i0 + i1(V − I) + i2X


���� �H.�$=*+�(�����6��� B��U�(� ��.�/���������M]� � r�F $=��� �(��� ������� M^�I�6*+�(��9 
��]� �3.%$=*+�(�U�(�6���
d
u1, b1, v1, r1, i1

hA$=���n�(���\���I,6�=�����H� ?1���6��*+���J$=*�- d
u2, b2, v2, r2, i2

h�$=��� �����\$&��0E��+
��M��������6�J��(H���6*�� �(�6�=*����c��?E���6��*3���K ?�I� �%,�������� d

U, B,V,R, I
h W ������M^��� �(�UTI��,U!I9

X
�6�������

$=����0E$=��� $&*�- d
U, B,V,R, I

h $=�����(�������($=*�-%$&��-10�$=F=*�����.�-�����9 e �I��������M �=*�-��6*]F@��*�������.,+
01��*+�i$&,�0�$&FI*�����.�-���� $=��� d

ui, bi, vi, ri, ii
h 9 
��]�'�������I*�-1�I��-���� ���I,��I� ���=�����������6�I*K�(����01�

$=���`��FI*��I����- $=���(��� !n$&���).���.�$=,6,U!#��0E$=,6, ���I01M%$=����- �����=�������'�������I����M]��������*+� ��* �����
01�C$=��.�����0E��*+�(���= �����Q0E$=FI*��U�(.�-�����9

• Coefficients of Atmospheric Extinction :
4��5�C$=*#/^��������*J ?���I0 �(��� $=/ � T=� � �3.%$�+

���6�I*���Wg�(���>��*�������.�01��*+�i$&, 0�$&FI*�����.�-���� �%$CTI�E$#,6�6*]�C$=��-���M^��*�-]��*������I*\�(�]�E$&�6��0E$=���
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d
X
h 9L
:�K-�� �(����01�6*��'�(��� ���E+V��?1���6��*+�5�= <$&��0E�=��M�������������(H���6*�� �(�6�=*A�I*���*�����-���0�$&FI*�� +

��.�-����)�= �k�i$=���)�������=.�FI� -�� � ������*+�@$=����0E$=�����f9 �=9�$ �)-�� � ������*+�)��,���T&$&�(���I*���$=/ � T=�>�����
���=��� ���I*g9 oY!
�I/������kTc��*�F �������k�i$=���b��*8$ F=��TI��*��%��,6-8$ �`T&$=���6�I.��)�(��0E���)-�.�����*�F �����
�I/]�����kT&$&�(���I* �I*��K�C$&*2-�� �(����01�6*��b�����>0�$&FI*�����.�-���� �= �(���>���($=��� �������=.�FI� -�� � ������*+�
$=����0E$=�������>B����6�i���C$=*�/ �J ?.����������1.�����- �(�
-�� �(����0E��*��J�(��� ���H� ?1������*+�(�E�= Q$&��0E��+
��M��������6�#�I(c���6*�� �(���I*g9 
�������M����c����-�.����#�6������M^�C$&����-8 ?�I��$=,6,L�(�]�#��� �3.�������- �%,��������`�(�
-�� �(����01�6*��Q������M^��� �(�UTI�@���E+ � ?1������*+�(��9

• Coefficients of Transformation :
oY! .�����*�F �=/�������T&$&�(���I*��)�= 5$ ,6$=��FI�K*3.�0b/ ���`�= 

�k�i$=���'��*#�(��� �%��,6- �= TH�6��BS�I*��)�C$&* -]���(����01�6*�� �����)�������'�= <�(���Q�(��$=*��k ?�I��0E$&�(���I*A���E+
��?E���6��*3����9 �%�I�L�(�]�6�LM�.���M �=����BD�'�%$CTI�'.�����-��i$&��Z3� e � 	 	 � e 
N$=*�- e�e GQjc
�Gb9c
����
���($=*��k ?�I��0E$&���6�I* ���c��?1���6��*+�(�)�C$=*
/^�>$=M�M�,��6��- $&,6�I*�FAB��U�(� �����>ZH*]� B�*
0E$=FI*��U�(.�-����
�= 5���i$&*�-%$=��-a���($=���@�(� FI��*����($&����$ ��� ���= ��������I*�-%$=�k!
���i$&���b��*
����� ����,6-2�= 5TH�6� B �= 
�����>���I.������>�= Y�6*+�(���������C9K
��]�>�($=��Z3� e�e G�4 � � $=*�- � mtP�4 	���$=* / �>.�����-  ?�I� �(�����
M�.]��M^�I���&9

3.3 Radio Observations


���� ��0�$&FI�6*�F)$ �D��$=-��6�)BD$ T=��,���*�F=�����5����W3.�*�,��6Z=��$&�Y�IM]���6�C$&, $&*�- (J+V��$C!1BD$CTI��,6��*]F=�(����W�/%$=����-
�I*1�(����M�����*�����M�,6���= g4�M^������.�����jH!H*+�(����������$=*�-EmV*3�����k ?�����=0E� �(��! d l�!H,6��$=*�-#&�� B��6��� W � �=qIr+h 9

���� ����*]��������TH���V!8�= Q$\�(��,6�������IM^� �6�K-�������� �(,U!_M����=M �I�k�(���I*%$=,D���2�U�(�>���=,6,6�������6*�F $=���C$]9�
����
$=*�F=.�, $=���������=,6.]���6�I* �= $K�(��,6�������IM^�b����-]� � �($=� �(�6�=* ,��601������-J$=*�- �6�'FI��T=��* /3!J������l'$C!c,�����FI�
���������������I*

θ ∼ λ/D B��������
λ
�����(���QBD$ T=��,���*�F=��� �= :�(���)�I/������kT=$ �(�6�=*��'$=*�- G �6�5�����@-�� $=0<+

�������'�= <�(���Q�(��,6�������=M �&9YmV* �IM]�(���C$=,g$=*�- (V+ �($C!#�I/]�����kT&$&�(���I*���W%���6*����
λ
�6����0E$=,�, �(���)-�����������-

�������I,�.]�(���I*���$=*K/ �D�I/]�i$&�6*���-�B����(��$ ��0E$=,6,H��� ����-K01�6�����I��9 
:�)$=�i�]�6��T=��$ �������I,�.]�(���I*����=0EM%$ +
�($&/�,6�D���Q�(�����������=,6.]���6�I*��& g$ ��0�$=,�,]��� �����=M]�(���C$=,3�(��,6�������IM^��BD�=.�,6-K��� �3.��6����$QFI�6F+$&*3���6�Y�($=-����
�(��,6�������=M � d *��C$=��,�! 105 ���601��� �����5��� �����= [�����5�IM]���6��$=,c����,6�������IM ��M h`B������i�>�6� �I(cM ��*����UTI�'$=*�-
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.�*] ?��$=����/�,6�&9)4��)$A������.�,U�Q�($&-��6�#$&���(���I*��I01����� .������(���K��*3�����k ?�����=0E� �(�����`�����i��*�� �3.��=WgB��������
�6*]���(��$=-
�= �$J����*�FI,6�KF=� $=*+�)-������
�= 5����TI���($=,L����*��@�= 5Z3��,6�I01����������W �I*��>BD�=��Z3�@B��U�(�
��� TI����$=,
-���������� �= ��0E$=,�,6������� ���`��M����C$=-\� T=���Q$E ?� B �(��*�� �= Z3�6,��I01���(������9�
������ $=� �(�����I��������*3��,�!n$=�
$>/��6F�����,6�������IM �)�= $� ?��B ����*����= :Z3�6,��I0E� �(���5-�� $&0E� �(����W�$=,�/ ������*]�=����� TI������*�FE�U�� ?.�,6,U!I9

Interferometry

l'$=-��6�`�6*+�(���� ?�����I01������!>B������#$b�VBD�>$&*3����*�*�$��6*+�(���� ?�����I01���(���D���D����0E��, $=� ���b�(�]� -��I.�/],6����,6�U�
��(cM^�����601��*+�C9 e �I*]���6-]���Y$=*�$&���(���I*��I01�6��$=,�M��]��*��I01��*]�I*A�I*>�(���'����,6�����(�6$=,[��M��]�������= g��$=-���.��

R
,6��$=-���*�FQ�(�`$)���601�DT&$=��!H�6*]F`��,6��� �(���I0�$&FI*������6�5���6FI*�$=,

E(R) B��]�6�i�>B��6,6,]��TI��*+�(.%$=,�,�!1$=�����UTI�
$&�������#�I/������kTI���1$&�

r
92
��]� �%��,�- $&���(�]�#�I/�������T=���

E(r)
���b����, $&����-8��� �(��� �%��,6- $&�b�(���

���=.������
E(R, t) $=�� ?�I,�,6� B��

E(r) =
∫

E(R, t)e2πiν|R−r|/c

R − r
dΩ (3.2)

B��������
dΩ

��� �(�]�'��.��� $&����$=���C$Q��,���01��*+�L�I*K�(�]����.��k $=�����= [�(�]�'����,�������� $=,c��M��]�������= 
�($&-��6.��

R
9%
����) ?.�*�-%$=01��*+�($=, M����=M �����V!#�= :�(���)��$=-��6�KBD$CTI�������������UTI��-n ?���I0 $=�������I*]�I0E���C$=,

���=.��������A���>���%$&�1�(��� !�$=��� � �k�(�H�i�%$=�k�(�6�EF �f9 �=9 �(�]� ��,6��� �(���6� �%��,�-�$&�1�(�]�n�I/������kTI���E-�.�� �(�
$=*a$=�������I*��=0E���C$=,L���I.���������$=*a/^�1������$&�(��-_$=�`$ �($&*�-��I0 M����c��������9J
��������I010E�I*],�! .]����-
���($&�(�������6�b ?�I�)$#��$=*�-��I0 M����H�������)�6� �����K���=������, $&���6�I*  ?.]*������6�I*g9bR����6*�F#�(�]�6� M����IM^�����V! �I*��
�C$&* -�� �%*��`$ �H.�$=*+�(���V!A�C$=,�,6��- � e �I01M�,6�I( � ������/��6,����V!�F

V(r1, r2) =< E(r1, r2)E∗(r1, r2) > (3.3)

B������i���6�Y$CTI���($=FI��-A�6*1�(��0E�� ?�I�L�(�]��01�C$=��.�����0E��*3���D�= �(���'����FI*%$=,^$&�Y,6�H�C$&���6�I*]�
r1

$=*�-
r2
9bmV* ��$=-��6�A$=�������I*��=0b!IWg�U�Q�6����.��k�(�I0E$=��! �(�J01�C$=��.����b-��6�k�i$=*������)�6* �(���K�I/]�����kTH�6*�F

M�,6$=*��A��*8.�*��U�(���= �������BD$ T=��,���*�F=���
λ
$=*�-8���\-����%*]��� /%$&����,��6*������E+ �I��-���*%$&����� F d . W T WLB�h

��.]�i� ���%$&�b. � (x2 − x1)/λ W T � (y2 − y1)/λ $=*�-aB � (z2 − z1)/λ 9n
�����T&$=* e ���������k� +
� ����*��6Z&�D�(�]���I����0 ����, $&�����:����� ���6����/��6,����V!� ?.�*������6�I*

V(u, v,w) �����(�]�D�6*+����*������V!`-��6�k�(����/�.]���6�I*
�= g��������*����=0E��*�F)�($=-��6$&�(���I*gW+m d U �T!@h W+B��������

l
$=*�-

m
$=���'������-������������6�I*1���I���6*����D�I*1�(������Z+!
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�6* � .]T3B=F5���E+V�I��-��6*�$&�(� ��!H������0 9 m �#��$=*N/^�\����� B�*N�(�%$ � (l2
+ m2

+ n2) = 1 $=*�- ���%$&�

dΩ = dl dm/
√

1 − l2 − m2 9 � �U�(�#�(�]�����@-�� �%*������6�I*]� � �3.%$ �(�6�=* � 9 � �C$&* /^�)����B��������(��* $=�

V(u, v,w) =
∫ ∫

I(l,m)A(l,m)e2πi(ul+vm+w
√

1−l2−m2−1) dldm
√

1 − l2 − m2
(3.4)

B��������
A(l,m) �6� �(���Q*]�I��0E$=,6������-EM����60E$=��!1/^�C$=0�M%$ ���(����*g9L
��]�Q$=/^� T=�Q� �3.%$&���6�I*

�6�'$ �%�I.����6���D
:��$=*��� ?�=��0 ����, $&���6�I*�/ � �VBD����*n�����QTc������/��6,����V!> ?.�*�� �(�6�=* $&*�- �����)0E�H-�� �%��-J�6*V+
�(��*����U�V!

I′(l,m) = I(l,m)/
√

1 − l2 − m2 9 
�����mV*+TI������� �%�I.����6���<�(��$=*��� ?�=��0 �& ^�����6�:Tc������/��6,����V!
,6��$=-����(�K�����)�������60E$&�(���I*A�= <�(�]�@���I.������@�6*+�(��*����U�V!A-������(���6/�.c�(�6�=*g9

Aperture Synthesis

�%���I0 �(��� M�����TH�6�I.]� ����� �(�6�=* �U�J�6�#��,��C$=�#���%$&�#�(� � 0�$=M FD�(��� ��*3����*������V!N-]�6��������/�.]�(���I*N�= 
�(�]�n���=.������nBD�n*�����-��(�8��$ T=� �������%�I.]���6���>���I01M �=*���*+�(�E�f9 �=9 TH�6����/��6,����V!a0E��$=��.�����01��*+�(��9
) �I����� TI����W%�U g�(�������I.������ ���D*��&�5T&$=��!H�6*]F�W]$ �5,6��$=���Y ?�I�Y����� M�.]��M^�I��� �& �I/�������T&$&���6�I*���Wc������*
���`*��=�b*����������($=�k!a�(�n0E��$=��.����A$=,�, �(��� �[�=.��������)���I01M^�I*���*+��������0�.�,��($=*����I.���,U!I9#
������b����$
FI���C$&� ���601M�,6� �%�C$&���6�I*`$&�L�������6*��k�(��.�0E��*+�i$=,���� �3.�������01��*+���  ?�I�L� � ��� �(��T=��,U!��I*�����$=*>0E��$=��.]���
$=,�, �(��� �%�I.����6���Q���I01M �=*���*+�(�)/+!\.����6*�F �I*�,U!n�VBY� $=*+����*�*%$&��W</3! M]�3!H���6�C$&,6,�!n0E� TH�6*]F#�I*��
$=*+�(��*�*%$ B��U�(�2������M ��������� �����E�&�(�����` ?���=0 M�, $=���1���nM�,6$=���&9#
����6�`0E� �(���H-
�= �FI��$=-�.%$=,�,�!
/�.���,6-���*�F $=,6, ����� �[�=.��������)���I01M^�I*���*+���b$=*]-a.����6*�F �(����0 �(�n��0�$&FI���(���1���=.��������6�@�C$&,6,6��-
� 4�M^������.����@j3!c*+���������6� FU9 mV* M]�($=� �(�6���=Wc�6*��k�(�C$&- �& M��+!c���6��$=,6,U!�01� Tc��*�FK$=*+����*�*%$&�� ?���I0�M�, $=���
�(�'M�,6$=���&W&�I*]�Y.������<�(��� ���=�($&�(���I*Q�= c�(��� �C$=�k�(�@�(�'�($=01M�,6� ����� (u, v) M�,6$=*�� $=*�-@�(���LTH�6���6/���,6���V!
 ?.�*�� �(���I* �H.]���(�)��$=M��6-],�!I9

3.3.1 Giant Metrewave Radio Telescope (GMRT)

K")nl 
 ���E$&*��6*+������ ?�����I01���������J$=����$ !aB����6�i��.��������(��� M����6*����6M�,��#�= Q$=M^���k�(.���� �k!H*3���������6�
�6*+T=��*+�(��- /+!Nl�!H,6�\$&*�- &�� B��6��� d � �IqIr+h 9 
���� K�) l 
 ���I*����6�k�(�#�= � r2 ?.],6,�! �k�(�����($=/],6�
-�����������W���$=�i� �= @-�� $=01������� �3pa0 W'$=*]- ��$=�#/ ����* -������6F=*���-N�(� �IM^����$&�(� $&�J$_�($=*]FI� �= 
 ?�����3.���*����6���1 ?���I0 p&r7) & �#�(� � �+p=r*) & �&9_4 -����������6M]���6�I*_�= '�(�]� K�)nl:
 ���KFI��T=��* /+!
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jHBD$=��.]M d � ���=r+h 9�
����;K�)nl:
 �6�',6�H�C$&����- $ � $1������� d ,6�I*�F=���(.]-�� � 
 � ◦ r � ′ ��W^, $ �(����.]�(-]� �

� � ◦ rIq ′ P@W:$&,��(�U�(.�-]��� q+p=rJ0X$=/ � T=��01�C$=*
����$n,6� TI��, h
∼
sIr Z30 *��I�����a�= 57L.�*��=W mV*�-�� $c9


����"K")nl 
 $=*+����*�*%$&���%$CTI�)$bTI����!�,6� BNB��6*�-�,6�+$=-]�6*�Fb$=*�-ATI����!�,6� BN�(�=�($=,[BD���6FI�+� d
∼
sIr

�(�=*�*����(h)���%$=*�Z3�)�(�J�(���E*�� TI��, �(���i��*�� �H.]�E��$=,6,���-aj ) 4 l:
 + jH�(�����(�i� ) �����845���($=�i����-2�(�
l��IM �Q
<��.]��������9 4 ,6��FI�+�D�(�]�6*AB��6��� 01�����J�= 0.55 010�-�� $=01������� B����(� $bT&$=�k!c��*�FKFI���6-A��� ���
� 10 × 10 � �3.%$=���E010 ��* �����1�6*�*���� � � � $=����$#�= D�����>-��6���gW 15 × 15 � �3.%$=����010 ��* �����
01�6-�-�,�� � � � $=���C$J�= D�����E-]�6��� W 20 × 20 � �H.�$=���10E0 �6* �(���>�I.]����� � � � $=���C$J�= D�����E-]�6���
������� �(�i����-
� T=��� ���IM �@�(��.��������  ?�I��0E���(���`��� �%��� �(�6*]FA��.��k $=���b�= L�(���`-��6���g9�
��]���601M �=���i$&*3�
��!H�k�(��0 M%$&�($=01���������5 ?�=�5�(����K")nl 
 $&���Q,6��������-J�6*J
:$=/�,6� � 9 �c9


����@���I* �%FI.���$&�(���I*J�= K")nl 
S$=����$C!J�6���IM]���601� ����-A�(�101�����������`��� �3.�������01��*+�'�= 
����FI�J$=*�FI.], $=�Y�������I,6.c�(�6�=*#$&��,�� B  ?��� �3.���*]���6���'$=�DBY��,6,g$=���60E$=FI��*�F`-]� � .����Q�I(c����*�-]��- �($=-����
��01�6�������I*g9J
����6�`�IM]���601� �C$ �(�6�=*\�6��$&�i���6� TI��-_.]���6*]F $n�+!H/�����-8���=* �%FI.���$&�(���I*a�& 5�(����$=����$C!
�bB��U�(� � �n�= Y�(����$=*+�(��*�*%$=�`�($=*�-]�I0E,U! -����������6/].]�(��-a�6*2$J����F=�6�I*
�= �$=/^�I.]� 1 × 1 � �3.%$=���
Z30 ��*a�(��������*+���($=,5����FI���I*gW ��$=,6,���- � e ��*+���($=,�j��H.�$=���EF�W $=*�-8�����#����0�$&�6*���*�F � q $=*+�(��*�*%$=�
/^���6*]FK��M����C$=-J�I.]�5�6*J$����=.�FI��,U! � �<F]���%$=M^��-J���I* �%FI.]�($&���6�I*�B��U�(�A�����Q,6��*�F=�(�#�& �C$=�i� $=��0
�= Q����� � �<F / ���6*�F

∼ � �2ZH0 9Sjc�����:�6FI.���� � 9 � 9 
���� -]�6��������/�.]�(���I* �= �(�]� $=*+�(��*�*%$=���6*
�(�]�`����*+�(��$=,:� �3.%$=���@B5$&��-���,6��/ ���($&����,�!��($=*]-��I01� ����- ����$CT=�I�6- FI�($&���6*�F>,��I/ ����9Y
����b����*+�(��$=,
� �3.%$&���`$=*+�(��*]*%$=��M���� TH�6-]�)$>,6$=��F=� *3.�0�/^�����= <�����=���'/%$=����,6��*�����W����]�I���������'/^����*�F

∼ � rIr�0 9

������'����.����  ?.�,  ?�I���60E$=FI��*�F���(H����*�-���- ���=.���������B����I���)TH�6���6/���,6�����6���D$=���)���I*�����*+�(��$&�(��-n*���$=�
�(�]�'�=���6F=�6*K�= ^�(���

uv
M�,6$=*��&9 
����'$=��0 $=*+�(��*]*%$=� B����(�>,��I*�FI����� /%$=����,��6*��

∼ � �)Z30 W+M]��� TH�6-��
����FI� $=*�FI.�,6$=�5�������=,6.]���6�I*g9L4 ���6*�FI,��=K")nl 
S�=/�������T&$&�(���I*J����*]���)!c����,�-����6*] ?�=��0E$&�(���I*��I* $
T&$=�������V!#�& $=*]FI.�, $&�5����$=,6����9

3.3.1.1 Observations with GMRT : A strategy


����K$&*3����*�*�$�F+$=��*�� d B����6�i� $=���`���I01M�,6�I(�h���$=*nT&$=��!JB��U�(� ���601�b$&*�-  ?��� �3.���*]��!I9 7 ���IM^���
�(��$=�iZ3�6*�F �= '�(�]�����#����01M �I��$=,5$&*�-���M �������($=,DT&$=��� $&���6�I*]���6*8�����JF+$=�6*_�& ���$=�i��$=*+�(��*]*%$
���
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Figure 3.1: GMRT antenna array in ‘Y’ shape : The antennas of GMRT are fixed at
their positions, unlike VLA antennas which are all mounted on rails and can be moved
when required. The ‘central square’ consists of 14 antennas and the rest 16 antennas are
spread in the three arms of the ‘Y’. The logest baseline provided by GMRT is ∼ 14 km
while the shortest is ∼ 100 m. The whole configuration effectively works as a single
antenna dish of 25 km diameter, albeit with non-uniform sampling over the surface.
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System Properties Frequencies in MHz
50 153 233 327 610 1420

Primary Beam (degrees) planned 3.8 2.5 1.8 0.9 0.4 × (1400/ f )
Synthesised Beam
Full array (arcsec) planned 20 13 9 5 2

Central Square(arcmin) planned 7.0 4.5 3.2 1.7 0.7
System Temperature (K) planned 482 177 108 92 76
Gain of an antenna(K/Jy) planned 0.33 0.33 0.32 0.32 0.22
rms noise† in image(µJy) planned 46 17 10 9 13

Table 3.2: System parameters of the GMRT : † For assumed bandwidth of 16 MHz,
integration of 10 hrs and natural weighting (theoretical)

�601M^�I���($=*+�@��� FI� ��01�C$=*���*�F= ?.�, ������.],��(�b�I.]���& 5�(�����($=-����n��*3�����k ?�����=0E� �(�����E�=/�������T&$&�(���I*���9
e ����$&�(��*�F�$&*A�I/�������T&$&���6�I*E�����($&����F=!=W]Z=����M���*�F���*�01�6*�->�(���������H.]�6����0E��*+�(�D�& <$=*+�(��*]*%$bF+$=��*
�C$&,6�6/]�($&���6�I*gW ���b$ �%���k�b�k�(��Ma ?�I�@��.��i�8�=/�������T&$&�(���I*���9#
��������I0EM],6��(
FI$=�6* �= �$&*8$=*+�(��*�*%$
�C$&*a/^�1��M ����� �%��-2.�����*�F $=*a$&0EM�,�����.�-��K$=*]-a$JM��%$=���=9E
��������� ?�I���=W �=*��>*�����-��@�VBY� �V!HM^���
�= ��$=,6��/��($&���I����W^$ �%.,(n�C$=,��6/���$&�(�=��$&*�- $�M��%$&������$=,6��/��($&���I��W%�����(��$=�iZ ������$&0EM�,�����.�-��@$=*�-
M��%$&���nT&$=��� $&���6�I*��K�& �(��� F+$=��*g9 ;Q����M��6*�F
�(�����E��*�01�6*�- -�.����6*�F �(�]�n�I/������kT=$ �(�6�=*���WD�����
���=.������ �= ��6*+����������� d 
:$=��FI���ihK���K�I/�������T=��-N$&,6�I*�F B��U�(� �(��� � ,�.,(_��$=,6��/��($ �(�I� d � ,�.,( e $=, h
$=*�- �����KM��%$&���K�C$&,6�6/]�($&���I� d 7L�%$=��� e $=,"h'�6*\$A��� �3.���*]��� �

FluxCal - PhaseCal - Target -

PhaseCal - Target -....... - Target - PhaseCal - FluxCal

�����F+$=�6*KT&$=��� $&���6�I*�� $&�����=��� �(���

 ?�����3.���*�� !#/%$=*]-�M%$=����$=��� ���I������� �(��-#.]���6*]FK/%$=*�-�M�$=���5��$=,6��/��($ �(�6�=*1B������i�ABD�Q���%$=,�, -�������.����
/����6���]!#, $&������9

3.3.1.2 Flux Calibration


����1$=01M�,6�U�(.�-]���= �(���KTH�6���6/���,6�U�V!# ?.�*������6�I* �= Y$#����*�FI,���M �=�6*+�)���I.]�����>��� M����=M �I�k�(���I*%$=,<�(�
�(�]� �%.,( -]��*������V! �= �����@���I.������&9'
��]�����  ?�I���&W^TH�����6/]�6,6�U�V!�01�C$&��.�����01��*+�(���= L$1M �I��*+�����I.������
�= Z3*�� B�* �%.,(E-���*����U�V!���$=*A/^��.�����-A���b���k�(��0�$&���'���������C$=,��6*�F`/ � �VBD����*#�(�]� �%.,(E-���*����U�(�����
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Source A B C
3C48 2.345 0.071 -0.138

3C147 1.766 0.447 -0.184
3C286 1.480 0.292 -0.124

Table 3.3: Flux Calibrators : Parameters A, B ad C mentioned in Equation 3.5

�= g�����'M �I��*+�D���I.������ d �C$=,��6/���$&�(�I�(h $=*�-1�(���'���I.]�������= ��*3�����������YB����6�i�E�C$=*E�(����*�/^� $=M�M],6�6��-
�(�A������������� �= �(�����=/�������T&$&�(���I*���9Q4 �%.,(n�C$=,��6/���$&�(�=� d B����6�i�\�����I.�,�- / ��$AM �I��*+� ���=.������ h
�= :Z3*�� B�* �%.V(#-���*����U�V!#�6�5.]����-J ?�I�D�����6�DM�.���M^�I���`$&*�-J�6�5�I/]�����kTI��- $&�5�����Q/^��FI��*�*��6*]FK$=*�-
��*]-��= �(���'�I/�������T&$&���6�I* 9 
��������i$&*�-%$=��- �%.V(�-]��*������V!>�C$&,6�6/]�($&���I���L$&���',6�6�k�(��-1��*E
:$=/�,�� � 9 � 9
4������I��-]�6*�F)�(�)�(���� ?�I��0�.�, $ �(�6�=*�FI��T=��*1/+!1o5$I$=��� � �5$&,f9 d � � 
�
Ih WI�(��� �%.V(1-���*������V! F

d �6*EO&!]h
�= <�(��� �%.V( �C$=,��6/���$&�(�I���5$&��$� ?�����3.���*�� !

ν
d ��* ) & �Ch�����FI��T=��* $=�

log(F) = A + B × log(ν) + C × (log(ν))2 (3.5)


����@���I*]���i$&*3����4`W%o $=*�- e $=���),6�6�k�(��- ��*#
 $&/�,6� � 9 � 9

3.3.1.3 Phase Calibration


����A���I*��I��M��������A$ � �����(�@�(���E-��6����� �(�6�=*8$=�)BD��,6,Y$=�`������M]�%$=�����= 5�(�]������FI*%$=, $=�����UTc��*�F $&�
$=*+�(��*�*%$]9 ) �I����� TI����W=�(�]� � $=����� F � �6�I*]�I��M��]�����Y$=,���������� B�� -���*����U�V! ��.�����.%$&�(���I*��:�I*�$�,6$=��F=�
�($&*�FI� �= c,6��*]F=�(�`$=*�-)�(��0E���g����$=,6����9 
��]� �V!HM����C$=,3$=*]FI.�, $&�g����$=,6� �= H�(������� �%.�����.%$&���6�I*�� /^����*�F
$` ?� B -]��FI��������9 
�����M���$=����T&$=��� $&���6�I*]� ��*��(�]������FI*%$=,��Y����������T=��-J$&�Y�(����$=*+�(��*�*%$=�5������.�,��D�6*
T&$=���6$&�(���I*���*��(�������k�(��0�$&����->$=*+����*�*%$)F+$=��*���9<
<�@���I������� �  ?�=� �(���������(����M]�%$=������$=,6��/��($&���I� ���
�I/������kTI��-# ?�I� $) ?��B 01�6*3.]�(���Y����M^�C$&����-�,U!E$&�5$&*��6*+������T&$=,[�= $=/ �=.]� �+p)01�6*3.]�����D-].�����*�F@�����
�I/������kTc��*�Fn��.�*g9Ajc�6*����K�(��������M]�%$=���>T&$=���6$&�(���I*��Q$&���>�C$=.]����-a-�.��>�(� $&�(01�I��M]�������6�K� � ��� �(�
� TI����$=*2$=*�FI.], $=�Q���C$=,��1��*
�����1��Z+!\B����6�i�2�6�)�= 5$J ?� B -���F=��������W<�(���1M��%$=���E��$=,6��/��($ �(�I� ���
�i���I����* ��.��i� �(�%$&�'�U���6�5B��U�(����* $� ?� B -���FI�������� ?���I0��(���Q�i$&��FI� �����I.������&9
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Source Frequency Date ∆T Flux Reference
(MHz) (UT) (days) (mJy)

†GRB 030329 1280 – – Detection a
†GRB 030329 610 – – Detection a
†GRB 030329 325 – – < 0.5 (1 σ) a
GRB 050408 1280 2005, Apr. 21 & 22 13 < 0.45 (3 σ) b

GRB 050416A 1280 2005, Apr. 25.83 9.4 < 0.094(2 σ) c
XRF 050509c 1280 2005, Jul. 6.56 57.6 < 0.22 (2 σ) d

2005, Aug 4.48 86.5 < 0.12 (2 σ) d
GRB 060218 1280 2006, Feb. 21.65 3.5 < 0.3 (3 σ) e, f

Table 3.4: Radio Afterglows : A list of GRB afterglows observed (detections and non-
detection) using GMRT. [References : a = van der Horst et al. (2007); b = de Ugarte
Postigo et al. (2007); c = Ishwara-Chandra et al. (2005); d = Kamble et al. (2005), e =
Kamble et al. (2006b); f = Kamble et al. (2006a).] †The afterglow of GRB 030329 was
observed by GMRT on several occasions. It was detected at 1280 MHz and 610 MHz
while at 325 MHz we could establish only upper limits. A complete list of observations
of GRB 030329 radio afterglow can be found in van der Horst et al. (2007).

3.3.1.4 Bandpass Calibration


����Q$&*3����*�*�$�F+$=�6*]�YT&$=��!E$=�����I���D�(�]�� ?�����H.]��*�� !A/%$=*]-#�= �I/�������T&$&���6�I*E0�$&�6*�,U!K/ ���C$=.]���Q�= 
�6*]���(��.�01��*+�i$=,%�������I��� $=*�-E$&� ���=0E�5���601���L-�.����(�)�I(c������*%$=,^l�$&-��6� �%�����H.]��*�� !>mV*3�����k ?������*����
d l � mkh 9B&'��*����=W��C$=,��6/���$&�(���I* �= �����n/%$&*�-�M%$=���A�6�1*����������($=�k!I9 4 �������I*�F �%.,(��C$=,��6/���$&�(�I�
d M]��� TH�6-���*�FEF=�c�H-J���6F=*%$=, �(�1*��I�����)�($&���6�3h5��$=*n/^�).�����-n ?�I�'/%$=*�-�M�$=���'�C$=,��6/���$&�(���I*J$=��BD��,6, 9

����K$CT=���($&FI��F+$=��* M^�����i�%$=*�*]��, ��$=* /^�b.�����- ���A,6�H�IZ� ?�I�'�(���`����, $&����TI�)T&$=���6$&�(���I*����= �����
$=*+�(��*�*%$1F+$=�6*J��* �����Q ?��� �3.���*���! /%$=*]- �= �I/�������T&$&���6�I* 95jc� TI������,U! $�� ��������- �i�%$=*�*���,6�'�(�3.��
-�� �(��� �(��-8���I.],6-
/ �>�I01�����(��- /^�� ?�I���>�6*+�(����M^�I, $&���6*�FA$=*�-2$=M�M�,U!c��*�F#�(���E$=*+�(��*�*%$ F+$=�6*]� �(�
�(�]�)�($=��F=�������=.������=9
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3.3.1.5 Issues


���������$=����$  ?��B��=�(�]��� ���I01M�,��6�C$ �(�6�=*��<B��U�(�K�(�]�'��$=-����Q�I/�������T&$&���6�I*�� B��]�6�i�1�I*����%$=� ���@/^�
$CB5$&�����= $=*�-K�����I.�,�->�($=Z=����$=�����& ^B��]�6,6�5$=*%$=,U!c���6*�F��(����-%$ �i$]9:
:�)01��*+�(���I*>$� ?��B��= [�(�������
�6����.���� � ����� $&*3����*�*�$`F+$=��*1T&$=��� $&���6�I*KB��U�(�E�����'���I.���������,6� T&$&�(���I*gW3M��%$=��� �%.]���(.�$&�(���I*�� -�.��
�(���6�I*��=��M��������&W+�60E$=FI� ��01�C$=���6*�F�-�.��D��� �%*��U�(�D/�$=*�-]B���-]�(�>$=*]-��%*������Y���601�Y�= [��*+�(��F=�($&���6�I*gW
�������)��M�$=����*�F)M����I/],6��0 $=*�->*��=*,+V���E+VM�,6$=*%$=�����V!)�= [������/%$=����,6��*�����9 oD��,6� B BD��-�������.]���L/����6���]!
�I*�,U!#$K ?��BS�= :���������`������.�����B������i�n$=���)����,���T=��*+�'M%$=�����6��.�, $=��,�!1 ?�I���I.����=/�������T&$&�(���I*���9

� 9 Ionospheric Phase Fluctuations :
7L�%$&��� �%.�� �(.%$ �(�6�=*�� -�.��5���Q�6�I*]�I��M��]�����D�6� $� ?����+

�3.���*���!J-���M ��*�-���*3��� � ��� ��$=*�-J,6� B  ?��� �3.���*���!J-�$&�i$K�6���& "�(��*J���6FI*�� �%�C$&*3��,�!�$�� ��������-
/+!n��������� �%.�����.%$&���6�I*���9`
<�#0E$=Z=�������K0�$ ���(����BY�I�����=W �(�]�1jc.�* $=*�- ���I, $=��$=������TH���V!
-����������(,U!2$�� �����`�(��� � $=�k�(� F �b���I*��I��M���������B������i�_$�� ��� �(�b�����AM��%$&���A01�C$=��.�����0E��*+�(�
-�.]���6*]F��(���b�($=-������I/]�����kT&$&�(���I*���9�
��������KM��%$=��� �%.�� �(.%$&���6�I*]� $�� ��� � �(���b����*]��������TH���V!
�= ����� �I/]�����kT&$&�(���I*���$=*]-A����*]��� �(�]� ���k�(�60E$&�����D�& �(��� ��.,(�T&$=,�.�����9Lm ���6�Y�601M �=���i$&*3�
���1��$=,6��/��($ �(� �(�]�����)M���$=�����%.�� �(.%$&���6�I*]�'/^�� ?�=���Q.����6*�F>�(���)01�C$=��.�����- TH�����6/]�6,6�U�(�����  ?�I�
0E$=M�M���*�F�9E7:�����6�H-����K�I/�������T&$&���6�I*��)�= Y�(���1M��%$&���1�C$=,��6/���$&�(�I� $=,6�I*]FJB��U�(� �(���>�(���i�,+
*�� �3.����= �� ����,U �C$=,��6/���$&�(���I* F%�C$&*\M���� TH�6-��>$E����01��-c!n�(�A�����6��M����=/�,6��0 ���A $=�Q$=�������
M���$=�����%.�� �(.%$&���6�I*]��$=���)��0E$=,�,f9 
��]�6�5�(���i��*�� �H.]�`����-��6����.�������-n�6*#���������6�I* � 9 � 9 �H9 ��9

�c9
Bandwidth smearing :


�����0E$=*��� ?�����($&�(���I*b�= ^�(�]�'� � ����� �= /%$=*]-,+ B���-]�(�>��01�C$&���6*]F
��* $J��$=-����A0�$&M\�6�������

radial distortion
�= Y�����K���=.��������)�f9 �=9)�(���>���I.��������@$=M�M^�C$&�

��,6�I*�FI$&�(��- �(� BD$=��-]���(���`M��%$=��������*+�(���b�= �(�]�b0E$=Mg9 �%�I�����I*+�(��*H.].�0 �=/�������T&$&�(���I*���W
�����KTc������/��6,����V!J-%$&�($#�6*+�(��FI�($&����- � TI���@�����K/%$=*�-V+ B��6-c�(�

∆ν
�6� �(���C$&����-2$=�Q�� �����>�I/,+

������T&$&���6�I*]� BY������0E$=-��'$&�Y$)���6*]FI,6�5 ?��� �3.���*]��!
ν0
B����6�i�E�6�L�(���'����*+�(�($&,[ ?��� �3.���*���!1�= 

�����5/%$=*]-g9 4��L$�������.�,U�CW �(���5.�$=*�-�T@���E+ �I��-]�6*%$&����� $=*�-b�����DT&$=,6.]��� �& %�(��� Tc������/��6,����(�����
$=���)���I������� �'�I*�,�!E ?�I�

ν0
9Lm �� ?�I,�,6� B��5 ?���I0��(���)-�� �%*��U�(�6�=* �& :����� d .gW T]h����E+V�=��-���*%$&�(���

���%$&�1�(���J�(��.�� ���E+V�=��-���*%$&�(���1$=��� ����, $&����- �(� �(��� �������I��-]��-����E+V�=��-���*%$&�(���1$=*�-������
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 ?��� �3.���*]��!n$=� (u, v) = (uνν0/ν, vνν0/ν)
95
��]�`����, $ �(�6�=* /^���VBY����* �(���@/����6FI�+�(*]�����'-����C+

�����6/].]�(���I* $=*�-J�(���)TH�6����/��6,����V!1�i�%$=*]FI����$=�����I��-���*�FI,U!I9 
����`� � �������= �����@���E+ �I��-���*%$&���
���C$=,��6*�FK���5�(�1��01�C$=��$KM^�I�6*+�'$&��M^�I���U�(���I* d

l,m
hD��*3���1$>,��6*��Q�& ,���*�F=���

L = (∆ν/ν0)
√

(l2 + m2) (3.6)

��*n�(���`�($=-]� $=, -�������� �(���I*g9�
��]��, $=��FI�����(�]�b ?�($=� �(���I*%$=, /%$=*]-]B��6-]���gW 01�I���b�6�'�(���`-��6� +
���I�����6�I* �����C$=.�������9Q
����6������-].������ �(���K$&0EM�,�����.�-��)�= L�(�]�bTH�6����/��6,����V!A$=*�-\$�� ��� �(�������
�%*�$=, ��.,( �������60E$&�(�������6FI*]� �%��$=*+�(,�!=9�
���������01��-]! �6��W^$=� � �3.%$&���6�I* � 9 q1��.�F=FI���k�(��W �(�
��M�,6�U�:�����D��*3���6���D/%$=*]-K�6*+�(������T=����$=,]/%$&*�-�� �= [��0�$&,6,6���gB��6-]���g9 
��]�6� ����-�.]�����L�������I���:�6*

(u, v)↔ ν0
$=�����6FI*]0E��*3�:B����6�i�K��*b�(.]��*�����-�.������L�(�]�5� � ��� �(� �= [/�$=*�-]B���-]�(�K��0E��$=����*�F

��*J�����)0E��$=��.]����-JTH�6���6/���,6�����6����WH$=*�- �6*A����� �%*%$=, �%.V(J���k�(�60E$&������9

� 9
Non-co-planarity of the baselines :


����K$=*+����*�*%$EM�����0�$=�k!#/^�C$=0 ���'BD$CTI��,���*�F&�(�
-���M ��*�-���*3� d

∝ λ
h 9 
��������� ?�I���=W $ �J,6� B B5$CTI��,6��*�F=�(�]� ����� ����F=�6�I*N�= )�����\��Z+! $=*

$=*+����*�*%$@�C$=* � �����EF3�C$=*1/ �'$=M]M�����(c�60E$&�(��->/3!1$Q�VBY�`-���0E��*������I*%$=, d � +VGQh M�, $&*��=9 oD.]�
$&�Y,6� B� ?��� �3.���*�������� �(�����D$=M]M�����(c�60E$&�(���I*K-��H���Y*��=� ���I,�-EFI�H�H-�$=*]-E�(�]��M�,6$=*��'�= �����
��Z3!K���%$&�L�����'$=*+�(��*]*%$ � ������� Fc�%$&� ���)/ ���(���C$&����-1$=� $ � +tG M�,6$=*��5�(�@$CTI�=�6->-��6�k�(�I�k�(���I*
 ?�����#�60E$=FI����9��a�#��$ T=�#�(����$&�(��-_�(���#��Z3!aB����(�]�6*8�(�]�#M�����0�$=�k!
/ ��$=0 $=�>$\�����>�= 
� +VG M�,6$=*�����W^ ?�=�'�����bM�.]��M^�I�����& L�6*��U�(�6$=,g-%$&�($E����-�.�� �(���I*gW[B����6�i� BY�b,6$&�(�������I0�/���*��
M����IM^����,U!a���
������� T=���>�(���A ?.],6,D��0�$&FI�A�= '�(���#��Z+!I9 
����J*3.�0�/^���K�= ���0E$=,6,����`��� ����-
� +VGSM�,6$=*���� d P h ��� �3.�������-A ?�I�Y�����6�YM�.���M^�I��� �6�YFI��T=��*J$=�

N = λB/D2 B�������� λ �6� �(���
BD$CTI��,���*�F&�(�A�= �I/������kT=$ �(�6�=*���W

B
$=*�-

D
$&�����(����,��I*�FI����� /%$=����,6��*���$=*�->�(�]��-��6$=01���(���

�= <�(�]�`$&*3����*�*�$1.�����-gW[������M^��� �(�UTI��,U! d 
:$C!c,��I�����'$&,f9UW � �����Ih 9

3.3.2 Data Reduction and Analysis

�%�I� -%$&�($b$=*%$&,�!H����� ��*E��$=-����@BD$CTI��/�$=*�-��DB��U�(� K�)nl:
QWIBD��.�����-��(����4��k�(���=*��I01�6�C$&,�mV0�$&FI�
7L���H����������*�FajH!H���(��0 d 4�mt7 j�h�-���T=��,6�=M ��- /+! P�$&�(���I*%$=,Dl�$&-��6� 4��������I*��=0b! � /�������T&$&���I��!=9
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G $&�($2���E�������=��-���- �6* �(��� ,��($ d ,6�I*]F
������0 $&����.]0�.�, $ �(�6�=*[h` ?�I��0E$&�E$=*�-��6�1�601M �=���(��-_�(�
4�mt7 j2TH� $ �(����� mV
'j d � ,���(c�6/],6�>mV0�$&FI��
<�($=*]��M^�I���KjH!H���(��0Ah) ?�I��0E$&�C9 K")nl 
 ���& "�VB5$=�����
	 mkjc
'j e 4�PS$=*�-#K � � mV
'j>$=����.]����-1�(�@���I*+T=����� �(�]��-%$ �i$Q�6*>,��($  ?�I��0E$&� ���`-%$ �i$Q�6* � mV
'j
 ?�I��0�$&��WLB����6�i���6���(�]� 4�mt7Yj ����$=-%$=/�,��A ?�I��0E$&��9_
���� ��0EM^�I�k�(��- -%$ �i$\�6* 4�mt7 j �6�>�6* $
0�.�,U�(� +V���=.�������TH�6���6/���,6���V!�-%$&�i$&/%$=���&9L
����Q-%$&�($����I*+�($=�6*��D0�.�,����6M�,����i$=/�,����5,��6Z&�����=.������ �i$=/�,��
j]R@W� ?��� �3.���*���!J�($=/�,6��� ��W%$=*+����*�*%$K�i$&/�,6�Q4�P � �(�&9

3.3.2.1 Pre-Processing


����E-%$&�i$ �6�),6�I$=-���-
�6*+���n4�mt7 j .�����*�F �($=��Z�� mV
 	 Gb9<mV*�-��I(c�6*�F �(���E-%$&�i$J�6�`$=,UB5$C!H�@�����
�%����� �IM^����$&�(���I*b�(�Q/^��-��I*]�5�I*K�(���D-%$&�i$�B��]�6�i�>�6�L$&�i���6� TI��-1.����6*�F ������4�mt7 jb�i$=��ZbmtP�G � l
B������i�A�����C$&�����Y$=*���*�-���( d P �Qh $=*]-A$)�C$=,��6/���$&�(���I* dfe 	<h �i$=/�,��=9 
��]� e 	n�i$&/�,6��������T=����$=�Y$
�(��0EM], $&���'�& $=*+�(��*�*%$@F+$=�6*]�  ?�=� T&$=���6�I.]� 4�mt7 j1�C$&,6�6/]�($&���6�I*KM����IFI��$=0E��9 m �Y�%$=� / ����*1 ?�I.�*�-
�(��$&� $ �������`�k�i$=�k���& L�C$=�i�n���C$&*n�(���@-%$&�($E���'��*+T=$&��� $&/�,�!�*��=����.��U�i$=/�,��Q ?�I�'�����@M�.���M^�I���b�= 
$=*%$&,�!H������9J
��������� ?�I���=WL-%$ �i$  ?���I0 �(�]� �%�����Krc9 pJ0E��*H.c�(�1�= ��C$&�i�_���C$&*8�6�@����0E� TI��-_.�����*�F
�(�]���i$&��Z �QR�4 e ;K9H
������I(]M^��� �(��- �%.,(E-���*]�����V!1�= �(��� �%.,(E�C$&,6�6/]�($&���I��� $&� �(�]�� ?�����3.���*�� !
�= @�I/������kT=$ �(�6�=*��A�6�������J.]���6*]F8�(��� �($=��Z j �L
'O �XB����6�i� .������#�(���\Z3*�� B�* ��M^��� �(��.�0 �= 
�(�]�n���=.������=9N
���� �6*] ?�I��0�$ �(�6�=* $=/ �=.]�A$&,6,D�����n���I.���������W��6*���,6.�-���*�F\�(�����6� �%.,( -���*����U�(�����
���k�(��0�$&����-J/+! j �L
'O � $=���QB����U������* $=*�- 0�$&�6*+�i$=��*���-��6*#�(���`j]R �($=/�,6�&9

45�)���=0E�����601��� �(�]�K-%$&�i$#0E$C! ���=*3�($=�6* -��  ?��� �(�@����*]-������6*�F#�(�]�1-�$&�i$#.�*3.���$=/�,6�&9
jc.��i�
-%$&�($A*�����-2/^�K�6-]��*+�(� �%��-
$=*�-\��,6��$=*���- 9�
����KM����c�������)�= ����01� TH��*�F#-��� ?��������TI�>-%$ �i$
 ?���=0 �(���)-%$ �i$K��� �������C$=,�,6��- F �[$&FIFI�6*]F F�9


����`ZH��*�-n�& L-��� ?������� *��I��0�$=,�,�!��I/�������T=��-\�6* �(���`-%$&�($E��� �(� ���I.�,�-n/^�`�= T=$&���6�=.��
�V!HM ���Q�=9 F�9Q$=*+����*�*%$A�=��/%$=����,��6*���� /%$=����-

−
-��  ?��� �(��T=�K$=*+�(��*�*%$A�I��/%$=����,6��*�����W �(��0E�@/%$=����-

−
�����($&���6�@ ?�I�Q$���0�$=,�,:-].��($&���6�I* W �i�%$=*]*���,L/%$&����-

−
-]�� ?��� �(�)�I*�,U! �6* M%$&���(����.�,6$=���i��$=*�*���,6�

$=*�- $\���=0�/��6*�$&�(���I*a�= �$=*+!_�& '�����J$=/^� TI�J�=9 F�98$ -]�� ?��� �(�UTI�J/%$=����,6��*��A�I*],�!
 ?�I�K$\��0E$=,6,
-�.���$&�(���I*n�& L�(�601�=9'm � ������0EM^�I���($=*+���(����-���*+���� "!J�(���`-��� ?�������Q��,6��$=��,U! $=*�- ��, $=�����U "! B��U�(����*
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�I*��Q�& �(���)$=/^� TI� �V!HM^����9 4SB����I*�F>�6-]��*+�(� �%�C$&���6�I*E�C$=*#������.�,�����* �[$=FIF=�6*�F`�= <��TI��*n$�F=�c�H-
�3.%$=,����V!#-%$ �i$1B��]�6�i�n����*��=��-������6�($&/�,6�&W%����M^����� $=,�,�!AB��]��*n�=*��`����,��c�=ZH��*�F� ?�I�� $=��*3�'���I.��������
��.]�i�\$=�'$& "�(����FI,�� B���9 4�mt7 j M]��� TH�6-�����$KT&$=�������V!#�& :�($=��Z3���(�1�C$=����!#�I.c�'�����6����-���*+��� �%��$&�(���I*
/+!AM�,��=�����6*�F@�(���Q-�$&�i$b���I*+TI��*��6��*3��,�!#��*�T&$=�����I.��Y��� �3.�������- -]�I0�$&�6*��D$=*�-A�(�]��*# ?�I� �%$=FIFI��*�F
���'$&�����=��-���*�FI,�!=9 jc�I01�Q�= <�(���)4�mt7YjA�i$&��Z3�'B��]�6�i�JBD�).�����-  ?�=��M�,6�=���(��*�F>$=*�- �[$=F=FI�6*�F������
-%$&�($1��*���,�.�-���� � � 7 	 � 
QW[R �Q7 	c
QW^R � � P�G`W[R � � 		K $=*�-J
 � � 	 KK9%4�,�,g�= <�(���@$=/^� TI�
�i$&��Z3�1$=,6,�� B M],6�=���(�6*]Fn�= ��(�]�#-%$&�i$\��*aT&$=�����I.���-��=0�$=��*��b�I(c����Mc�AR � � P�G $&*�- R � � 	 K
B������i�n$=���).����  ?.�, �6*J�6-]��*+�(�U "!c��*�F>$=*�- �[$=F=FI�6*�FK�& -��  ?��� �(��T=�`-�$&�i$K������M^��� �(��T=��,U!I9

3.3.2.2 Calibration


���� ��.,( ��$=,6��/��($ �(�I����������T=���)$=�'�(���bM�����0�$=�k!J�C$=,��6/���$&�(�=���� ?�I���������60E$&�(��*�F�$&*3����*�*�$�F+$=��*��
B������i� ��$=*_�(����*�/^�A.�����- �(�\��$=,6��/��($&���E����� �%.,( $&*�- M��%$=�����>�= ��(���#M]�%$=���#��$=,6��/��($ �(�I���
B������i����$=* ��.�/���� �3.���*3��,�! /^�#.�����- ���
��$=,6��/��($ �(�����I.��������>�= ��6*+������������9 �%�I�b�(�]�6�K����$=���=*gW
�%.,(
��$=,6��/��($ �(�I��� $=���E$&,6���J��$=,6,���- $=�Q�(�]� � M����60E$=��! �C$=,��6/���$&�(�=��� FU9�
����>M����c����-�.]���>�(�%$&�)���
���=.]�(��*���,U!� ?�I,�,6� BD��-A ?�I���C$&,6�6/]�($&���6�I*A����$=�� ?�I,6,�� B�� �

•


��]�'�($=��Z e 4 	 mto �6� .�����-1�(�)���I01M�.]�������I01M�,6�I(1$=*+�(��*�*%$)F+$=��*��  ?�I� �%.,(E$=*]-EM���$=���
��$=,6��/��($&���I����9�
����6�'�6*c ?�I��0E$&�(���I*#�6��B����U������* ��* �����b���I��������M^�I*�-]�6*�FJjcP �($=/�,6����9 � *��
��$=* �i�]�c�I���@$=M�M����IM����6$&�(���(�601� �������=,6.]���6�I*#� TI����B����6�i� �I*��QB��6�����������1�������60E$&�(�������
$=*+����*�*%$8FI$=�6*���9 �2�n�%$CTI�\�������60E$&�(��-��(�������\F+$&�6*��> ?�I�A$&,601�I����$=,6,������\$CT&$=�6,6$=/�,6�
TH�6���6/���,6�U�(�6����.����6*�Fn$J���601�K�������I,�.]�(���I*2�& � qJ�������I*�-]��9J45�`�����6�@���($=FI�1�I*��1�C$=*2M�,6�&�
�����>FI��*����($&����-8j]P �i$=/�,���.����6*�FJ�(���K�($=��Z jcP�7 	c
 ���J�i�����iZ\�(�]�1����,�� $=/���,6�U�V!J�= Y�����
�����(��0�$ �(��- F+$=��*���9 m  .]*��($&���6�k $=�����I��!=WYBY�n��� �(.���*����
�����J-%$&�i$��[$=F=FI�6*�F �k�(��M�$=*�-
 ?�I,�,6� B �(���)��*3���6���@M]���H����-].����@.�MJ�(�K�(���������($=FI�@$=F+$=��*#�(�6,�, �=*��)�6���($&���6�
�%��-JB������J�����
�����(��0�$ �(��-JF+$&�6*���9

•


��]� �i$=��Z K�� 
'O � ���Y������*J��.]*J���K���k�(�60E$&��� �%.,(A-���*]�����V!��= �(����M��%$=���Q�C$=,��6/���$&�(�I���
.����6*�FE�(�����������60E$&�(��- F+$=��*���$&*�- $CT=$&�6, $&/�,6�)-%$&�($]9 
���� �%.,(n-���*������V! �= M��%$&���K�C$&,6� +
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/���$&�(�=�����(�3.����������60E$&�(��-n���]�I.�,6- �(����* /^�`���I0EM�$=����-n.����6*�F1�(���@�C$=,��6/���$&�(�=��0�$=*3.%$&,
M���� Tc��-���-#/+! � 	 4 3 9cm  ������������.],��(�5$=��� .]*��($&���6�k $=�����I��!>�(�]��*#�I*���*�����-��5�(�b�6*���M �����
$=*]- �[$=F1�(���`/%$=- -%$ �i$1 ?.]���(�]��� $&*�-n ?�I,�,6� B �����b��*+�(�6���bM����c����-�.]���K$=FI$=�6* .�*+�(��, �����
������.],��(�'$=���)�($&���6�� $&���(�=��!I9

•

� *��#��$=*_�(����M����H������- �(�\/%$=*]-�M%$=���K�C$=,��6/���$&�(���I*a�= ������#-%$&�($ /3!a���k�(�60E$&���6*�F �(���
/%$&*�-�M%$=�������' ?�I�5$=,6,^�(���@$=*+�(��*�*%$=��9 
����6������$=�i������TI��-n/+!A.]���6*]F>�($=��Z�o57 4 j�jAB����6�i�
B������(�@�(���`���k�(�60E$&����-n/�$=*�-�M%$&������� �6*+���A$Ao57 �($=/�,6�&9 �Q*]�b�C$&* M�,6�&��������o57 �($=/�,6���
.����6*�F $#�i$=��Z\7 �)j�j )29<R���.%$=,�,�!IW $A ?� B �6*��U�(�6$=,<$=*�-��%*%$=,L�i�%$&*�*���,�� d

∼ 5 �i�%$=*�*���,6�
�I*
���U�(�����Q����-����(hQ-]� *]�=�)FI��T=�>�($&���6�� $&���(�=��! ������.�,����`$&*�-\�(��� ! �%$CTI�>�(�J/ ���%$=FIFI��-g9
m  :$=*+!E�($=-����b ?�����3.���*�� !#�6*+������ ?������*���� d l �:mkhY�6�YM���������*+��������*J���D�C$=*#/^� -�� �(�����(��- $&�
�����6���k�i$=FI�@$=*]- �����)���I��������M �=*�-��6*]F1�i��$=*�*���,6�������=.�,6- / � �[$&FIFI��- 9

•


��]��0�.�,U�(�����I.������ �%,��'��� ������*E��M�,���� �6*+���b$ �%,6�'���=*3�($=�6*]�6*�F)�I*�,U!K�(���'���=.��������= �6*+�(���C+
�����CW B������b$=,�,=�(�]� M]����TH���I.�� �C$=,��6/���$&�(���I*�� $&M�M�,6����-)�I*)�(��� .]TH-%$ �i$��& c�����Y���I.������=W&.�����*�F
�����b�i$&��Znj]7 	 4L
Q9 
�����������.],��i$&*3���C$=,��6/���$&�(��-n-%$ �i$������(�]��* ��.�/������ �Q�(���%$=FIFI��*�F�W^�� 
��� �3.��6����-g9 
�������-%$&�i$K���5�(����* ���C$=-]!� ?�I�5�(���)M�.]��M^�I���@�= :�60E$=FI�6*]F�9

3.3.2.3 Imaging


����J�i$=��Z_mC) 4 K)l@W $=* �60E$=FI��*�F � e ,��C$=*
�i$=��Z_�6* 4�mt7 j_�6�>���=.]�(��*���,U!8.�����-� ?�=�K������$&�(��*�F
�60E$=FI����.����6*�FJ$AF=��TI��* .]TH-%$&�i$A������9bm �)��01M�,�� !H�Q$�T&$=���6� �V!n�= Y$=,�FI�I�����(�]0E�'��.��i�
$=� e ,6$=��Z
e ,6��$=*_B������ jc�i�+B5$=/ � e �=�����I*�.]���#�= �.]T +VM�,6$=*��A��.�/]���($=� �(�6�=* d oNK e e ,��C$=*%h W $=*�-�jH��������W
G�� B�-���*+!IW $=*�- m �(� d jcG�mkh e ,6�C$&*g9

45�Q,�� B  ?��� �3.���*��������Q�(���b� � �������)-�.��b���#*��I*,+ ���E+ M�, $=*�$=���U�V!J/ �����I01��� ��0EM^�I�k�i$=*+�C9

<�b�i$=Z&���(�]�������6*+�(�b$=�����I.�*+��mC) 4 K)l ��� ������$=*��IM]�(���I*1�= M ���� ?�I��0E��*�F � GS�60E$=FI��*�F�9<
����
� � ��� ���= �(�]�Q*��I*,+ ���E+ M�, $=*�$=���U�V!�B5$&�����6F=*�� �%��$=*+��$&��q � r<) & � /�.]�5*��=��$&� � �=sIr') & �&9 �2�
M^���� ?�=��01��- � G �60E$=FI�6*]Fb�= :�(���Q���I.������ ����,6-]�� ?�=���I/�������T&$&���6�I*���-]�I*��@$&�'q � r ) & �=9

3http://www.vla.nrao.edu/astro/calib/manual/csource.html
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3.3.2.4 Self Calibration


����KM����c����-�.]�����= ��$=,6��/��($ �(�6�=*n$=��0E��*3���6�I*]��-\$=/^� TI��0E$C!n*]�=� /^����.,?E���6��*3�Q���AM����c-�.]���
FI�H�c- �H.�$=,6�U�V! ��0�$&FI���'B����(�]�I.]�Q$&���(�U $=�������I��B����(�n��� �3.�������-\����*]��������TH���V!=9)
:�#��0EM���� TI�`�����
�60E$=FI� �3.%$=,6�U�V!IWI�=*�����01M�,6� !H�L$QM � BY���k ?.�,]�(���i��*�� �H.]���= � ����,� �C$=,��6/���$&�(���I* FU9<jc��,U ��$=,6��/��($ �(�6�=*
.������ � M���$=���1��,��I��.����8F $=*]- � $=01M�,6�U�(.�-]����,��I��.����8F ����, $ �(�6�=*��Q$=�)���=*������($=��*3��� �(� ���I,UTI�K ?�I�

N
.�*�Z3*�� B�*>���=0EM�,���(`F+$=��*��: ?�=� $=*

N
��,6��0E��*3� �6*+�(���� ?�����I01������� .]���6*]F��(���Y ?�I,6,�� B���*�F��������($ �(��T=�

���i�]��01� �

•

e �]�c�I���'$)01�H-���,] ?�=�L/�����FI�+�(*������ -��6�k�(���6/�.]���6�I*�$=*�->���I01M�.]�����(����01�c-]��,]TH�6���6/���,6�U�(�6����9

•

jH�I,�T=�) ?�=�������`$=*+�(��*]*%$EF+$&�6*��5 ?�I�������6��01�c-]��, .����6*�F1M��%$=���b$&*�-n$&0EM�,�����.�-�� ��,6�I��.����
���I*������($=��*+�(��9

•

4�M�M�,U!`���������I,UTI��-1FI$=�6*`���I������� �(���I*�� �(���(���5TH�6���6/���,6�U�V!Q-%$&�($]9 R'���5�(�]�����I������� �(��-1-�$&�i$
���1������$&�(�`$K*���BS0E�H-���,  ?�I��/�����FI�+�(*�������-������(���6/�.c�(�6�=*g9

•

����M^�C$&�������@$=/ � T=�@�k�(��M����U�(���($&����TI��,�!=9

3.3.2.5 Flux Measurements

� *����)�(�]� �%*�$=, �60E$=FI� ���'M]���H-�.�����-gW �%.,( -���*����U�(�6���'$=*�- $&�����H���6$&�(��- .]*��������i$&�6*+�(�������= �����
-������6����-K���I.�������� ��$=*�/^�5���k�(��0�$&����-`.�����*�F�T&$=�����I.��<4�mt7 j`�i$&��Z3� ��.]�i�>$=�LO ) �:mV
QW=mC) jc
<4L
QW

 �)jH
:4L
Q9

3.4 X-ray Observations

�%+ �($C!H��B��U�(�n��*�����F=!
>

� r1Z=� � ��$=*nM^��*]���(��$&�(�`�(���`$=�6��W^$&��,��C$=�k�� ?�=��$1-��6�k�i$=*����b�= L$1 ?��B
01���(������W�/�.]�A,�� BD������*]����F&!�(J+V��$C!�M]���=�(�=*�����$=* *��=��9 
���� (J+V��$ !H�E�6*������ 0.5 − 5 Z&� �
�($&*�FI�=W+B���������01�I��� ����,6������� $=,c���I.��������Y��$=-�� $ �(�=W+��$=*>/ ���k�(�IM�M^��-1/+!>$  ?��B����������(� �= ^M%$=M^����9
� /+Tc���I.���,�!IW �I/�������T&$&���6�I*��`�= �$=*+!a$=�������I*]�I0E���C$=,L���I.������A��*a�(���9(J+V�($C!H���%$CT=���(� /^��-]�I*��
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 ?���=0 �=.]�(���6-��@�(��� � $=�k�(� F �Q$&��0E�=��M��������`�f9 �=9������I/������kTI�'(J+V��$ !H�  ?���I0 �(���`��Z+!IW ������(J+V��$C!
-�� �(��� �(�I����0b.����'/^� �%� B�* $=/^� TI�)0E�=�����= <�(��� � $=�k�(� F �'$&�(01�I��M]�������=9

� � � 
I� 4 d K)��������,6�5� ��$=,f9UW �=rIr �3h W]$`�($&����,6,�������-���-��6��$&�(��-A ?�I�D-]���(�������6�I*J$=*]-A ?�I,6,�� B�+
.�ME�= K)l'oD�LB5$=� , $&.�*��i����-E/+!1P�4 jc4 �6*1P�� TI��0�/^��� �=rIr ��9:
��6,�,]-%$&��� � � � 
I� �%$=� -�������� �(��-
01�I���A���%$=*��=rIr K)l�oD�>$&*�-_�(�����6�>$& "������F=,6� B���9 ����� � �"� � � ��� $=*]-��	
��8���85 �2$&���J$=,����
�=������� ��$&�(��,6,����(����B����6�i�\�%$CT=�K-��I*��@ ?�I,6,�� B�+ .�Mn�=/�������T&$&�(���I*����= $�*3.�0�/^�����= QK@l'oS$  "�(��� +
FI,�� B���$&��T&$=���6�I.]���(��0E����9 jc�6*����`BY�K�%$CTI�K$&*%$=,�!H����- $=*�-n.�����-
-�$&�i$��=*�,�!J ?���=0 � � � 
I� W BY�
B��6,�, /����6� ��!#-�������.]���'������*J�����6���i��$=M]�(����9


����`M�����0E�@FI�+$=, �& � � � 
I���6���(���`-������������6�I* $=*�- �3.����iZJ ?�=,6,6� B�+ .�M �& K@l'oD��$=*�-
$& "������F=,6� B���9 � � � 
I�:�C$=��������� �(�]�����'0E$ ���I� ��*�������.�01��*+�(� $=/^�+$=��- � � � � oD.������ 4�,����k� 
:��,6�������IM^�
d oY4L
'h B��]�6�i�1�IM ���($&����� �6*K�(�]�'��*�����F=!K��$=*�FI� 15−150 Z=� ��93oY4L
 -�������� �(� �(���%K)l�oD� $&*�-
�60101��-��6$&�(��,�! ��,6� B��@��� B5$=��-��`�����#K@l'o  ?�=�) ?�=,6,6� B�+ .�M �6* (V+ �($C!
$=*�-2�IM]���6�C$&,L/%$=*�-���9 � � �
R�,U�(��$�+ TH�6�=,6���g$=*�-@�IM]���6�C$&,+
:��,6�������IM^� d R � �Q
'hgB������i�b�IM^����$&�(���<��*Q�(��� B5$CT=��/%$=*]- 170−650
*�0 9�R � � 
 �6�)*��=�@�I*],�! .]���� ?.],  ?�I� �3.����iZ\�IM]���6�C$&,  ?�I,6,�� B�+ .�M\/�.]�`$=,����J ?�I�Q��� �%*���*�F �����
M^�I���U�(�6�=*�� �= [�(�]��$& "�(����FI,�� B���9 � � � � +V�($C!b
:��,6�������IM^� d � l 
'h:B������i�1�=M ���($&�����L�6*������ 0.3−10
Z=� � ��*�����F=!J��$=*�FI�&9D
���� �Ql 
 �C$=* M��6*]M �I��*+�%K@l'oD���(��p ′′ $=����.���$=��! $&*�-n��$=* �k�(.�-c! �����
(J+V��$ !b���I.]*3������M%$=�����L�= K@l'oD�

−
/ ��FI�6*�*]�6*�F�B��U�(����*K$� ?��B ����*�� �= [�������=*�-�� $=*�-K���I*+�(�6*3.���*�F

 ?�I� -�$ !H� ���ABD����Z3��9`
������Ql 
 $=,����A��$=�Q$�B��6-]��-]!H*%$=01�6�`�($=*�F=����� TI������*�FJ0E�I���`���%$=* 

�I��-��������= 0�$&FI*�����.�-����'��* �%.,( 95mV* �����Q ?�I,6,�� B��6*�FK���������6�I*]�'BY�`/]���6� ��!J-����������6/^�@����� �Ql 

��M^����� �%��$&�(���I*��'$=*�-J����, $ �(��-J-%$ �i$1$=*%$=,U!c���6�D�����i��*]� �3.�����9

3.4.1 Telescope

3.4.1.1 XRT Modes


���� �Ql 
 ��$=*n�IM^����$&�(�`�6*J�VBD�����i$ �(��� �/)n$=*3.%$&, $=*]-n4�.c�(��9�
����`0�$=*3.%$&,<�k�i$&���b���'.]����-
 ?�I���C$&,6�6/]�($&���6�I*#M�.]��M^�I�����'B���������$=�������b$&.]�(�1���($&�(�@�6��.�����-n ?�=��$&.]�(�I0E$&���6� ���I*+�(���=,6,6��*�FK�= 

4http://swift.gsfc.nasa.gov/docs/swift/swiftsc.html
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Telescope: Wolter I (3.5 m focal length)
Detector: E2V CCD-22
Pixel Size: 40µ m × 40µ m
Pixel Scale : 2.36 arcsec per pixel
Field of View : 23.6 × 23.6 arcmin
PSF: 18 arcsec HPD at 1.5 keV

22 arcsec HPD at 8.1 keV
Position accuracy : 3 arcsec
Energy Range : 0.2-10 keV
Energy Resolution: 140 eV at 5.9 keV (at launch)
Effective Area: 135 cm2 at 1.5 keV

20 cm2 at 8.1 keV
Sensitivity : 2 × 10−14 erg cm−2 s−1 at 104 sec

in Photon Counting mode
(about 2µ Crab)

Table 3.5: XRT Characteristics : This table is taken from ‘The SWIFT XRT Data
Reduction Guide’ by Capalbi et al. (2005). This guide can be downloaded from
“http://swift.gsfc.nasa.gov/docs/swift/analysis/"

�(�]���I/�������T&$&���6�I*]� $=*�-\����,��������6�I*n�= LT&$=�����I.���01�H-�����-���M^��*�-]�6*�FA�=* �(���`���I.�*+�)��$&�(�&9 
����
�Ql:
S�C$&* �IM^����$&�(�Q��*# ?�I,6,�� B���*�Fb ?�I.]����������*����`01�H-���� �

•

mV0E$=FI�`0E�H-���� � ����*
$�*�� B K@l'oS�6�'-�� �(��� �(��- ����� � l 
 ��B������i�������(�������6��0E�H-��
$=*]-\���(�=����� $=*\�60E$=FI�@�= L�(�]�����I.]�����`�(�#�C$&,6��.], $&���@���������=.������KM �I�������6�I*g9'
��������601�
�������=,6.]���6�I* �& Y�����6� 01�H-����6� $=.]�(�=0�$&���6��$=,6,U!#��� �Q�(�Jr]9 � �I� �c9 p��Q-���M^��*]-��6*�FJ�I* �����
���I.������ /����6FI�+�(*]������9L
�������0�$&FI��0E�H-����6� .����  ?.�,[ ?�I� ��.,(c���5/^���VBY����* �=p@0 e �($=/E$=*�-
�3p e ��$=/g9

•

	 � B l'$&�(�E$=*�-a7L�6,6��-,+V.]Ma7L���=���c-]�6�H-��>0E�H-�� �b
������`���)-������6FI*���-a ?�I�QTI����!
/����6FI�+�
���I.��������1$=*�-_ ?�I�b���6FI�8���601���������=,6.]���6�I*g9 
������K0E�H-��A-]�c���K*��=�K�%$CT=� $&*3!a��M%$ �(� $&,
��*] ?�I��0E$&���6�I*g9b
����1���601�K�������I,�.]�(���I*\�= D�����6�)01�c-]�K�6�@r]9 � �J0E��9E
��������E0E�H-����@$=���
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.����� ?.�,  ?�I� ��.,(c���'.�M ���1qIr e �($=/g9
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� ��*�-�� BY��-A
���0E��*�F � 
������Y��� �=/]�i$=��*���-1/+!1/��6*�*]�6*�F � r@��� B��Y��*+�(�`$`����*�FI,������ B $=*�-
������* ����$=-��6*]FK�I.]���I*�,U!������Q����*3���($=, �&rIrK���I,�.�0E*]�5�= <�(��� e�e Gb9[m �����H.]�'��� TI�����'�����
����*+�(��$=, s@$=����01�6*1�= ����� ����,6-E�= TH����B $=*]-��C$&*�-��`�I*��'-��601��*����6�I*�$=,��60E$=FI��*�F�9<
����
���601���������I,�.]�(���I*#�= �(�]�6�501�c-]� �6� � 9 
b01��9L
�������0E�H-�� ���5.����� ?.�,  ?�=� �%.,(c���'/^���VBY����*

� +VqIrIr�0 e �($=/ 9

•

7L���&�(�I* e �I.�*+�(��*�F � 
������:01�H-�� �����($=�6*]�  ?.],6,I��0�$=F=�6*�F�$=*]-`��M �����(���I�����IM����D�������I,�.]�(���I*
/�.c�5�(��� ���601���������I,6.]���6�I*��6�5,��601���(��- d �c9 p`�ih 9 
��]�6�501�c-]���6�D.����  ?.�,  ?�I� �%.,(c����/^��,6� B

� 0 e �($=/ $=*�-J�6��M]�6,6��-,+V.]M#�� <�(�������@$=���)01�I�����(�%$=* �����I.]�����@���=.�*+�(�'M ���5 ?�($=01�=9

3.4.1.2 Classification of Events and Grades

o5$=����-A�=*�-������(���6/�.c�(�6�=*1�& �i�%$=��FI�=W (J+V�($C!1��T=��*+�(�5$=���'��,6$=����� �%��-��6*+���`-�� � ������*3�DFI�($&-�����9 �%�I�
�(�]�J7 �]�=�(�I* e �I.]*3���6*�F\01�H-����(�]�#��TI��*+�(�E$=���#��, $=����� ����-_�6*+��� � �nFI�($&-����>$=*]- �����I���A ?�I�
�(�]� � �6*]-�� BD��- 
��601�6*�FK��*+�(� � p1-�� � ������*3��FI��$=-�����9 �%�I��-����($=�6,��'�& �(�]�6�'��, $&����� �%�C$ �(�6�=* �����
e $=M%$&,6/��g� ��$=,f9 d �=rIr+p=h

�%�I���(���K7L���&�(�I* ���I.�*+�(��*�FA01�c-]�=W F=�($=-���� �6* �(���b�($=*�F=�b�= r�+ � �E$&�������I*�����-�������-
FI�H�c-@FI��$=-�����9Ljc��0E��, $=��,�!=W� ?�I� �(��� � �6*]-�� BD��-b
��601�6*]F�$&*�-�7L���=���c-]�6�H-�� 0E�H-�����W ����� FI�($=-]���
�6*#�����)�($=*�F=�`r +
��$=*�- r�+tpcW]������M^��� �(�UTI��,U!IW^$=���Q���I*����6-�������-nFI�H�c- 9

3.4.1.3 Calibration Data Base


���� ���& "�VB5$=��� �6*+�(���� $=����� B������ �(��� �C$&,6�6/]�($&���6�I* �6*] ?�I��0�$ �(�6�=* TH� $ ����� e $=,6��/��($ �(�6�=*
G $&�($=/%$=��� dfe 4 	<G�o�h 9 e 4 	 G o����I*����6�����K�= '$ ���=,6,6�������6�I*8�& �%,6����W �C$=�i� -���-��6��$&�(��-_�(� $
��M^����� �%�b$=��M^��� ���& �(�]�`��$=,6��/��($&���6�I* W]�I��F+$=*�� ����- �6* $>��M^����� �%�@-��6���������I��!J�k�(��.�����.����&9�4�,6�=*�F
B������ �=������� ��,6���������6*���,6.�-������(�]� �%,6����B������i� $=���b.�����-
��* �����K$=*%$&,�!H�������= L��������(H���($=� �(��-
M����c-�.]���(��W& ?�I�<��(]$=01M�,��=W �(��� ������M^�I*����Y0�$ �(��������� �<l�����M �I*]���N) $&�(��� ( � ��,6� d l�) � h $&*�-b4�*,+
����,6,6$=��!bl'����M^�I*���� � ��,6� d 4 l �Lh 9+
����'l�) ���%,���� $=���'M]��� TH�6-���-1�������I.]FI�1����� �Ql 
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$=*�-J�(�]�@4�l �%����$=* /^�)�����C$&����- .�����*�FK�i$=��Z��Ql 
 ) ;)4�l �Y9

• RMF :

����1l�) � ��,6���Q���I*+�i$=��*\�6*] ?�=��0E$&�(���I*n$&/ �I.c� �(���K�i��$=*�*���,L-��6�k�(����/�.]���6�I* �& 

M��]�=�(�I*]��9

• ARF :

����E4 l � ��,6���@���=*3�($=�6*2�6*] ?�=��0E$&�(���I*\$=/^�I.]�)�(�]�E�(��,6�������=M �E$=����$n$=*]-2��?9+

���6��*]��!J$=�� ?.�*]���(���I*J�= :��*�����F=!=9


��������I01M�,6� �(�',6����� �= � l 
N�C$=,��6/���$&�(���I* �%,6���5$=*]-E�(�]���6�  ?�I��0�$&�Y$=����-����������6/^��-��6*
$>����M�$=�($&���)-��c��.�01��*+�CW,AtG�����������M]�(���I*#�= <�(��� � l 
 e $=,��6/���$&�(���I* � ��,6���CDiW]$CT=$&�6, $&/�,6��$&�

V�T� 0������1
1�3��� �85 2�� ��� 
�2��O����� � � �V� 
�� �V� 2���� 23�8U � ���1� � � 
I���

3.4.2 Data Reduction and Analysis

3.4.2.1 XRT Pipeline


���� -%$&�($ ��,6���gB��]�6�i�`$=��� M���� TH��-���-@/+! �(��� � � � 
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���H�I��-��6*%$ �(�������($=*��k ?�I��01��- W��(�601���($=FIFI��-gW%M��6,���-J.�MJ ?�($=01���'$=*]- M%$&���(�6$=,6,U!1��(cM �=����-nM�� (c��,��
��,��601�6*%$ �(��-%h WI��$=,6��/��($&����-1$=*�-E����������*���-E ?�I�LT=$&���6�=.�� M%$=�($&0E� �(�����Y��*���,�.�-���*�F � F=�c�H- F+FI��$=-�����9
&�� BY��T=���J�I*�� ��$=*N���($=���� ?���I0 �(�]� �($CB -%$&�($��%,6���#$=*�- M^���k ?�I��0 $=,�,'��������� �IM^���($ �(�6�=*��
�6*]-���M^��*�-]��*+�(,U!I9 
����@/ ������B5$C!J�= :-��I��*�F��(�]�6���6��/+!J��.�*�*���*�F1$>�������6M]� �Ql:
�7 mt7 � 	 mtP ��9
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�7Lmt7 � 	 mtP � �������6M]��9

����
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$=,����C$&-]!n�����Q���#$A-��� $&.�,���9 �Ql 
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�7Lmt7 � 	 mtP �S$=���
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3.4.2.2 Extracting Products


����
�60E$=FI����W���M �������($�$&*�- ,��6FI�+�J��.���T=���  ?�=� ���I.�������� $=*�- �(�����6�#/%$&�iZHF=���I.�*]-��n��$=* /^�
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 ?�I��7 e 01�c-���$=*�-Jr�+��@ ?�I� � 
 01�H-��=9 � *�� ��$=*A�(�]��*#����,6������$�����FI���I*A�= -�� � ������*3�5���%$=M^�
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 0E�H-��&W
BY�K.�����-2$E����� �i$=*]FI,6���& ��� ��� �=r

×
�+rAM�� (c��,6��9 �a�K���I.�,6- �(�3.��Q��(H���($=� � �(���b���I.������K��M ����+

�(��.�0 $&*�-#,6��FI�+�D��.���T=�@/+!�M�, $=���6*�F@�(���Q����� �i$=*�F=,6���=*A�(���Q���I.������=9 � ����* M], $=����-A $=�D$ BD$C!
 ?���=0 �(���'���I.]�����&WH�����'�($=01������� �i$=*�F=,6�����I.],6-1/ �'.�����-��(�@��(H���($=� �Y��������M �����(��.�0�$=*�-1,6��FI�+�
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4� "�����>�%$CTH�6*�F
��(H���($=� �(��-��(��� �60E$=FI����W ��M^�������($2$=*�-�,��6FI�+�>��.���T=���E������! ��$=*�/^�
 ?.��k�(������$&*%$=,�!H����- .�����*�FKT=$&���6�=.���M%$=�iZ $=FI������.��i�n$=� �)j]7 � e W �Ql �QP �)jJ$=- � mC) 4 K���9

3.4.2.3 Spectral Model Fitting
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ṅ

Area
(1 − α)

[x(1−α)
2 − x(1−α)

1 ]
(3.9)


������3.%$&*3�����V!
E/h

���I*+TI�����(� ������-�����������-n��*�����F=!n�6*+�(�E� �3.���T&$=,���*+�� ?��� �3.���*���! B��������
h
�6�

�(�]�K7L, $=*��iZ F �����I*����($=*+�C9
Area

�6���(�]�b� � ��� �(�UTI�K$=���C$��& �(���`�(��,��������IM^��$&����*]����F&!
E
9�
����

�3.%$=*+�(�U�(�����
x2
$=*�-

x1
$&����$=/�/�����TH� $&����-1*��=�($&�(���I*��L ?�I� (E2/E0) $=*�- (E1/E0) WH������M^��������T=��,�!=9


����� ?�($&���(���I*%$=,H�������I�L�=*
FE

��� ���k�(�60E$&����-K/+!>$=-�-]�6*�FQ��* �H.�$=-��($ �(.����5�(���5 ?��$=�����6�I*%$&,c�������=���
�I*J�(���)�������'�= <�(�]�@01�C$&��.�����- �H.�$=*+�(�����6����9

(

δFE

FE

)2

=

(

δṅ
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